


Answer key

EXERCISES

A 1 wasstolen 2 was not written \
3 swim 4 were you

B 1 Smoking is not allowed in this building.
2 The expo was planned in 2010.
3 When was this structure built?
4 Was this restroom cleaned?

C 1 Milk is delivered to my house every day.
2 This building was designed by
3 Utilities are included in the rent.
4 Apples are grown in Daegu.

D 1 Dogs are not allowed in the restaurant.
L 2 Cameras are prohibited in the museum. J
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EXERCISES

A 1many questions 2 ariddle 3 to 4 for \

B 1 was sent a parcel by Ben
2 js taught to us by Justin
3 was told a scary story by him
4 was given a wedding ring by the groom

C 1was given to Judy
2 was shown to his mentor
3 is paid high wages

D 1 was sent kimchi by my parents / was sent to me
by my parents
2 was offered help by a stranger / was offered to

L me by a stranger J
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EXERCISES

A 1 to smoke 2 tosit 3 to leave

B 1 was asked to see her
2 were allowed to yell in the playground
3 were ordered to fire by the commander
4 are considered a high-risk group

C 1 Obama was elected US President.
2 Sally was allowed to leave early.
3 | was made to do extra schoolwork

D 1 We are not allowed to use cellphones in class.
2 | was made to clean the men’s room by my

L teacher. J
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EXERCISES

A 1say 2that 3 It 4 have beenstolen \

B 1 issaid to be a liar
2 js expected that the Korean team will win
3 is said to have been the greatest fashion
designer

C 1 is said that she was a Russian spy
2 are said to have the highest IQs in the world
3 is said that the President has done everything
under the sun

D » Example answers
1 It is said that Park Jiseong is transferring to
another team.
2 |t is said that Ms. Park is going to run for

L President. )
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UNIT 5 EXERCISES
'O \
HAiat 2in 3in 4 as H

B 1 was filled with people
2 am worried about/by his attitude
3 aren’t interested in politics
4 is frightened of spiders

C 1 is known as the father of classical music
2 js half filled with water
3 are frightened of snakes

D » Example answers
1 is known for bibimbap, rice with vegetables

i 2 js also known as Clark Kent i
\ /
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1 be filed with ~: ~Z 7}=3ICH 2 be worried about: ~0f CHal Z-5tCt
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UNIT 6 EXERCISES

N
! A 1 been 2 bekept 3 beensaved I
4 laughed at

B 1 has already been told
2 was looked down on (by everyone)
3 must be submitted by October 10
4 are being washed

C 1 This dress must be dry-cleaned.
2 Answers must be marked on the answer sheet.
3 Can this phone be used abroad?

D » Example answers
1 The shirt is being ironed.
i 2 The virus is being removed from the computer.
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A 1 that 2 of 3 insist 4 against 5 sure I
B 1 Areyou sure
2 you insist
C 1 |insisted (that) she was right.
2 I’'m confident (that) there will be no problems
this time.
3 I’m not sure if I’'m doing the right thing.
D » Example answers
1 | insist (that) Korean girls are the most beautiful
in the world.
2 I’m convinced (that) Hangeul is the most
scientific writing system. i
__________________ J

A » 1 be sure ~= ~2 EGICIS S22 Foff ol 2 d=Rol= H
f hat2 £2Ct Oluf that2 A2Feh 4~ QACE 2 be convinced of ~: ~&
THE Lo FEE I A8sts #BOICL

argue against ~: ~0f| CHaH EHCHSICH 5 be sure to ~: ~Z SHAIGHA| 5t

ot=

sA > 1 U U7k B3 Zofeka BHlgk) 2 Ui 19] &
g shalsht 3 AT AP K WhEA]) a8 8 ), - B
o, 28 B, 4 B Aol 1 AR FolsAu Ui 1
o] WhejEieh, 5 W] Ao B8 s A 28 s,
B

A » 1 be sure CH20]| 20| & BR0ll= Floll AL thatS £2CF O,
that2 A4 F%E —’.‘— QUCt 2 XpAle| o 2 ZotAl FHE I insistE 2Lk

341> 1 A U 7k Sobe Aoleka Halsh?
B: 3, E¥gle] 2ok
2 A1 U AU 1 B1E sk 3],
B: o}, 7k 23A7I ke,

C

A » 1 insiste XHAQ| o7AS Zs =EE I AEsts B R Fof
Ho| 2 Z0le= THA thatg £ch ol that2 Mttt o Qlch
2-3 sure=2C} o EAIEE O confidentZ2 MM, sure?t certain® £, 9|

220f 0| M0|H, confident= 2201 O 0| 2L}

D

A » 1 XRAIQ| RS Z5H| & 1l insistES

Ol= BAMEEZ olnes % —’—“.—

2 be convince that ~2
ol 20| 2Lt

O| MM, Fofl Ho| 2 &=
thats 22Ch O|mff that2 42F0| 7HsSICh

r
~g BBl £o2 SN0 27t US BS

TEST 1 UNIT 1~7

I'e N\
I A 1 was hit by the baseball player !
2 js made in China
3 was made to change my mind by her words
4 is being read by the professor
5 was allowed to stay out late by his parents

B 1 Kerry was frightened of dentists.
2 Mick was interested in IT.
3 The mountaintop was covered in/with snow.
4 | was tired of standing in line.
5 Her eyes were filled with tears.

C 1 The Korean team is going to win the game.
2 The soldiers gave the children some chocolate.
3 The new owner has changed the restaurant’s
name.
4 The instructor told us to stand up.
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5 My homeroom teacher sent me the email.

D 1 take — to take
20
3 by —in
4 The girl smelled like roses.
5 is consisted — consists

E 1 | am confident about my ability to do the job.
2 She insisted (that) | attend the opening
ceremony.
3 Are you sure you want to quit the job?
4 He nodded, but he didn’t look convinced.

F » Example answers

1 |t is said that the singer has become popular in
the U.S., and I’'m sure about that.

2 | was told that our school will be closed
tomorrow, and I’'m sure about that.

3 I was told that the rock star’s hobby is knitting,
but I’'m not sure.

4 It is said that the taxes on buying an apartment

l will be cut, and I’m sure about that. i
J
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B 1see 2meets 3 leave 4 lend

C 1 | will pay for dinner if you pay for the movie.
2 |f a player steps on the line, he or she is out.
3 Quit drinking, or you will have problems.
4 If it rains tomorrow, we won’t go on a picnic.

D » Example answers
1 If you put the card on the reader, the amount of
your fare appears.
2 [f you transfer within thirty minutes, you get a
i transfer discount. i
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m EXERCISES
Y

! A 1 had 2 were 3 would

B 1 If | were a fast runner, | would win the race.
2 |[f he were rich, he would stop working.
3 If he won the game, he would go to the finals.

C 1 If I were you, I'd talk to your parents.
2 |f you were not a student, what would you do?
3 If I were rich, | would help everyone on earth.

D 1 If | were principal, I'd open a singing class.
2 [f | were my father, I’d let me have a

relationship. i

4 were I
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UNIT 10 EXERCISES

H A 1 had had
3 would

2 would have said
4 had gotten

B 1 If | had had enough money, | could have bought

the tablet PC.

2 [f | hadn’t fallen asleep around 11, | would have
studied more.

3 If she had felt sorry for him, she wouldn’t have
blamed him.

4 If he had apologized to me, | would have
forgiven him.
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C 1 Ifthey had been calm, the damage would have
been less.

2 [f I had known her phone number, | would have
called her.

3 If Galilei had yielded, science would have died.

D 1 If Japan had not colonized Korea, Korea would
have become a more developed country.
2 |f the Korean War had not broken out, the

i Korean Peninsula would not have been divided.
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'"A 1were 2 hadlistened 3 wish 4 hope

B 1 | wish he were here.
2 | wish | hadn’t been angry with Mom.
3 | wish | hadn’t mentioned it.
4 | wish | hadn’t eaten so much.

C 1 | wish we were still on vacation.
2 | wish | had never been born.
3 | wish you would help me.
4 | wish | could turn back the clock.

D 1 | wish | had been bornin the US.
i 2 lwishldidn’t have to go to school today. i
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UNIT 12 EXERCISES

r N\
! A 1as 2 were 3 went 4 only I

B 1 Mike is proud as if he were a king.
2 |t looks as if pigs lived in your room.
3 It seemed as if he had known the answer.
4 She spends money as if she were a millionaire.

C 1 He talks as if he saw dead people.
2 |t’s time you put it into practice.
3 If only you knew yourself]

D 1 Some clerks serve me as if | were an adult.

i 2 My parents treat me as if | were a baby. i
\ J
A

B4 » 1-2 Tas i+ 7HE T = ORR| ~8t ZiRIIOl ololE b=t 31
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C

si& » 1 as if CHZ0l 7HIR 21747} 24M ORX| ~8t 2829l £8 Zh=Ct
2 it's time CIS0l 0] + SAtQ] Tl &bM ~7F . & AlZho|ciat=
520| ElCh 3 If only CHS0H TR0 + SALS] A0 &M '~7t | BICHH Z
oEfak= 2 7HKIH, N wish + 7HE#nr 20t o 2Z9| 2joj7t Uk

D
si& » as if LSOl 7HEE obA REf7}F 2FM DFR| ~8F K=l 5

C}. ol as if CHAIO| as thoughS £ 4= C.

U'ECW  EXERCISES

H A 1 Without 2 were

a3
=

1o
rr

N\
3 providing 4 Suppose |

B 1 If it were not for him
2 Suppose he were President.
3 Had it not been for Ron

C 1 Ifit were not for plants, no animals could live,
either.
2 Supposing we buy the apartment, how will we
pay the loan?
3 You can go out provided you finish your
homework first.

D » Example answers
1 Were it not for colleges, many students would
quit studying.
2 Without humans, pollution on Earth would

i decrease. i
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A
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SHA » 1 Z7FEEH0IM without2 if it were not for CHROICE 2 7FEHOIIA If
4! suppose/supposing (that)2 & 4 UCEL 3 7HYR-0IA] 17} d2kz]H
F0Qt ZEAPL =X|Z|0] ‘Had + F0{ ~" HEHZ 220t

sia1 > 1 27} golclete, e ulRg Wite Aold 2 17t
giEoleby, FAL 15 Folazta? 3 Ronol flalrhy, Lhs
719E Aol

C

SHA » 1 71™Ee| on|2 ‘~0| CHH'S If it were not for~2 HESISICY
2 ‘~2fn 7PstH'E2 71 2ojo|, If thAl Suppose/Supposing (that)S
2L} 3 provided E= providing (that) 2 ‘~SICHH'S ESRICE

D

SH& » If it were not for= Were it not for EE= without@t 2Tt

e \
''A1Take 2 as 3 for 4 Like

B 1 Such
2 To take one example

C 1 Alot of Korean food, including kimchi, is hot.
2 To take one example
3 Don’t eat junk food such as ramyeon and
hamburgers.

D » Example answers
1 | think Korean traditional music including
nongak appeals to people all over the world.
2 | don’t think many Korean netizens like search

i engines such as Googgle. i
N J/
A

siA » 1 Take A for example: AS G2 =

} 2 such as: OI74CH ~zp 22
3 for instance: 02 S01 (= for example) 4 ACHEO| MHof| CHaH FrIX
ol oflE @78 mi= Like what? (GIE SH?7)2 £Ct 5 ¢l S0 2jojof

= for example (= for instance)2 2L}
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o4 > 1 BE2E o2 4 2 Tk BAHol} A g BEE
2 AR B o2 Bof, Sk S4 Aol 2 thFat S4
NES A 5otk 4A SR 02 Q5L A 4 gk - B o
2 Eche? 5 Ojste o2 S, Bl AR W Bejsht g
o} Hokol st T2 RE AU

B

sHA » 1 0lE ECtH? 1 22 B30 M= “Such as?"Ite 2 O|RFE0] g
7|z BHCE 2 To take one example2 ‘GHLIC| O|S SXIE’ olo|Z2 MQICE

aitAf » 1 Al 3F U2 Wt
B: ol & ETFH?
2A: W2 =7t A A|xlo] A
B: 18 gtol ol& shup ExbH, RS 2011 2]Ho]
oA Holuf hAFA],

(@)

ol

si& » 1 including2 ‘~2 ZESIH, ~2 H|IZEs5H0{'9l oojz Melct
‘Bt 7IX| 0|2 SXIH'2 to take one exampleO|Ct, 3 ‘OIS S0 ~2f &
‘O] HHOZ such asZ 2Lt

flo N

S » 1 MY = S RRlote He: =21t &
(traditional music including nongak) 2 Atd = &S RElel=s S

Goggle Z& ZMAIZIS(search engines such as Goggle)

7 TEST 2 UNIT 8~14

(

A 1 | wish | hadn’t gotten angry with you. }
2 If only | lived in Paris|
3 Ill go with you, providing/provided you pay me.
4 | behaved as if nothing had happened.

B 1 | wish | were a little slimmer.
2 | hope our team wins / will win the final.
3 | wish you had not said harsh words to me.
4 | hope you (will) get first prize in the contest.

C 1 If I were a good cook, | would fix you dinner.
2 |'ll keep silent as if | were unable to speak.
3 If it were sunny, we could play on the beach.
4 1t looks as if it’s going to snow.

D 1 wouldn’t — won’t
2 will - would
3 didn’t see — hadn’t seen



4 can — could

E 1 A:She has some character flaws.
B: Like what?
2 You will need some form of identification, such
as a student ID.
3 Men love violent sports. Take American football.
4 Everyone, including me, liked the book better
than the movie.

F 1 If | were a king, | would conquer the whole
world.
2 |f | were a warrior, | would defeat every demon.
3 If I were a queen, | would subject all men to my

l rule. J
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SHA » 1 DAARRO BtHE | wish 7Y Dtz =2 20t 2 (f
only + S+ SAL2 IAYE ‘STt ~SiotH Eo24ko| onjolct. 3 If 7HY
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2l) | hope
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C

sl » 1 SxHoll CHSH OFplS S E SiXHAMMO] Blih= 7HEH S #Ch
2 fas i+ 71EH  OKR| ~8t AMBEMZE 2ZX 23) 3 SRKof thgt

Ot+222 SMAE Bith= 788 THE 20 4 Tas if / as
though + 7P, OFX| ~8t X
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D
sie » 1 If ZZ4Z20| Dj2i2] ZAntol| GBS D|X22 JFgHe = MX| b=
| Al

Ch 2 SAxfAtae] BITHO|22 7HEY AIMIE MoF BiTt 3 7HFYY nii2tz

= Mf + Z20{ + had + ZIHEAL Z0{ +would have + TIHEA 4 7P 1t
70|22 1743 couldE £c},

E
SHA » 1 ArHarel Mol chel PAIZQ! olE 278 Hi= Like what?(lIE
SHY)E 201 2 MY Ee= FEE RS #8 such as (V2 22)
3 Take A for example(AS 0|2 SCHOIA TakePt M= AT 7HS5IC
4 AMA = FRE SEEEISHE B Everyone, including me (LHS Z§tst
ZE M)
F
SHA » iRl AbMT} BHiEl= JHASIA, E= Dol ASIE JHYo| Gl
U2 7Y 2| EFOICL 7HEY I Hizke 2 0|R0XIX| e &
XHoil CHSH Ok 201 B7{ Uk 7PEY If= IFRe] SAts ez M1,
ZZEoll= 'would / could + SAHYY S #ct
UNIT 15 EXERCISES
T T e emem—m—m—mm—mm—mmmmmm—— N\
''"A1said 2told 3says 4 saidto !
B 1 Jim told me (that) he didn’t believe me.
2 She told me (that) she was waiting for me there.
3 He told me (that) he saw me the day before.
C 1 She said “l didn’t tell you the truth.”
2 She told me (that) she didn’t tell me the truth.
D 1 “And yet the earth moves.”
2 “| came, | saw, | conquered.”
i — he came, he saw, he conquered. i
—— J

SHA » ZHESHHO| MEESA= say — say / said — said / say to — tell /
said to — told 2 £C} DML = ER0l= Tsay to+ AR E=

fell + At 22 HSISICE

a4 » 1 s "HF 74710 AR Rl Wt 2 T HellA
I o]l PESHA] ekoktial TR 3 Jve AU i
thal ERith 4 s oA ARSIl TRl

B

s » ZHEstHel © say — say / said — said / say to — tell /

said to — told 2 M1 OIXEXP} Q= F20|= say to+ Al E=
(o]

t7
tell + A2 HHSHI Q82 eto] AlZE HAE LIEHE FALE LIS
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20l 245=0] HHECE 1 said to me — told me, | — he, don't — didn’t
2 said to me — told me, | am — she was, here — there 3 said to me
— told me, | — he, yesterday — the day before

84> 1 Jime Uo7 “Urs WS WA groPel walth, 2 14
£ o)A U o] oA ATE Eolalel Ut 3 17}
Y7 Wk, i o) | wol.”

st » 1 ZIFSHOIH, X707t == A2 TRIE HEHHEZ HATHAIMIE &
Ch 2 32| AMeA 30|22 BPHANZ TSI

5 N\
! A 1theexitwas 2 the movie began
3if 4 heknew

B 1 He asked me what the score was.
2 She asked me if | lived there.
3 | asked him if he was tired.
4 | asked them what happened.

C 1 | asked who the winner was.
2 | want to know if she will be at the party.
3 | want to know what love is.

D » Example answers
1 “Why do you want to major in this field?”
The interviewer asks why | want to major in this
field.
2 “What is your ultimate goal in life?”
The interviewer asks what my ultimate goal in

i life is. i

SHA » 1 QBAL U= S| EC| St TEL "Where is the exit?" — where
the exit was. 2 QI2Al U= SIE 22| st HMEk "When does the movie
begin?" — when the movie began, 3 2|2At gl QI229| si Fsk
'Do you buy the book?" — if he bought the book. 4 2|2A} Sl= Q|22
o 34 T3k "Does he know that?" — if he knew that,
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st » 1 1= HATE ofdell QXS B9 2 Barry= 93t
7} AR AR =R S Btk 3 U oA I AL RS B
Atk 4 TuL T Uxp AL g1 QA= B9}

B

SHA » 11t 4= QZATE = 229 3t teto= QEES Q8RS
Z Q0N TO|ZAL+ TOf + EAFO| ({202 HIELCH 2-3 QZAPL Q= 9
EE0| st Me2 TEAL S AHSSH0] TR,

st » 1 T Holl A “HapTh o BA Hubar e E9lvk 2 1Y
= HolAl “ol3tel] AR Q772 St 3 U ZolA “u2zskAl
2978k B9t} 4 U= 2504 ‘e dojy?relal EQick

C

& » 1 | asked. + “Who is the winner?” 2 ‘~QIX| OIIX|'= Tif/
whether + 01 + SALZE ESSICE 3 72 RS EAH+ T + SAL
2 20t

D

SHA » ZAPL U= ARR2e] S M 9

O?,E TOZA+ 0 + SALL| 0202 M 11 2IZBRS 9 75
AL BAL AIKIE ‘LFe| A2 HEtSiCL Q2A 8= ves
ShH MB2 ™AL if/whetherS AFZ35H0 Tif/whether + 3

o= BT HEAL BAL AIRIS LFQ| Ao Hatsict

1
=
E
=
e

r N\
'"A1told 2tolisten 3 themen 4 Don't |
B 1 The commander commanded the soldiers to
retreat.
2 Mom told me not to pick my nose.
3 The doctor advised him to cut down on drinking.
C 1 My father said to me, “Enjoy your life.”
2 My father told me to enjoy my life.
3 Zeratul told the zealots, “Give your lives to Aiur!”
4 Zeratul ordered the zealots to give their lives to
Aiur.
D 1 Oprah Winfrey advised us to be responsible for
our own lives.
2 Winston Churchill told us to try, try again if at
I first we don’t succeed. 1
—— J



A

S » 1~3 HHRO| siHTES HHEY | ME toFHAIR HEISH04,
'S+tell / order / command + LITEX} + to-FHAL SEHZ 201 4 2XH
FE0| Z2 ATsHH0 M= Don'ts £Lt,

a4 » 1 Billy= YollA 71 Augo 2 7iekal Waith 2 Shania
= 2olA FoeA SolRelal Ity 3 T HolEolAl £
MERL BT, 4 Frice "% ]a) oAl ek which

B

A » 1 HHRO| SPHTEIO 2 Tsaid to + LI™MEALE 'command + 22X
0 +to-2 ™AL FEIZ L1 2 2EHFHZE0|H to2] A0l nots E=Ct.
Dont ~ — not to 3 QURE0| X9, &0l AL 'S+ advise + I|TE

I+ to AL FEI = &

SA1 > 1 AT ZAHSOIA “FEstel T BRg 2 ok
Lol A ‘512w mhe 3 Wtk 3 oAb el % Zol
2 "ok wye

C

SHA » 1 ZIYSHHOZ say to TIHEXHme) AL 2 ZHTSIHO 2 fell + I
TR me) + o2 =L AF2 3 ZITSIHO 2 tell + I KHthe zealots) At
2 4 IO 2 order + OIS XHthe zealots) + o ™A AR

D

Sl » 1 advise us oE™HAIE AFESH0 advised us to be responsible~
2 S 2 tell us toR™YALE A& told us to try~2 HSSITY.

s4 > 1 ©ze} gmeli x| AAle] sl WS A e %
T 2 YA ARE AL FEeA et lE, A Al
ol wefalal 2k ek

UNIT 18 EXERCISES

I'e N\

HA1is 2is 3are 4ls !

B 1 a. The moon in the sky is shining.
b. The stars in the sky are shining.
2 a. Three years have passed since the accident.
b. Three years is too long to wait.

C 1 The Netherlands is famous for windmills and
tulips.
2 The books on the shelf look interesting.
3 At least one of them is to blame.

4 Twenty-four months in the military is not a short
time.

D 1 Five years is enough to learn to speak fluent
English.
2 Six months is enough to acquire one thousand
English words.
3 Ten years is enough for Korea to overtake Japan

i in its economy. i
\ J
A

& » 1 One of + E+BALE B2 8 YXIAZICE 2 Three years=
siLtel JHde 2 Moo 2 tifE FZSICL 3 The peaches= 24714

5t
0|22 242 FZSIC 4 polics= = 0|20|22 T2 FFSict

i e 1 92 5 3 He A7 2 Zleltk
7igk)71ef 1 Alztold 3

[}
Ak F2ols Aol Q7] Sl F=e7?

1A » 1 The moon2 Tt
| —

ES
years have passed..= A|Zt|
= JiFolct,

|=, The starse= 54 FZSCt 2 Three
=

=& LIEHHDH, Three years is= aHLIQ]

14 » 1 a. shsolAs 2ol Yual gitk b, shsdllde HEol
Sl ek 2.a, 2 ARLZE AR 2] 3do] At b, 3dolst
© AREE 715E71el v A
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s » 1 the Netherlandse Z71H 2 tHs FZSICL 2 The bookse= &2
20|ct. 3 one of them Tt FFTICt 4 ZCHOIAML| 24742 SiLte| 4
IHHe = T4 FFEIc)

D

314 » 1 Five yearse= SHLt2| 4 |Z3tCE 2 Six months=

HEoz e FG
Sttel 4~ W2 o FFSICh 3 Ten yearse StLt| = JHES 2 T

Fastct

UNIT 19 EXERCISES
o S N\
! A 1are 2were 3is 4am I

B 1 a. Half of the money is left.
b. Half of the apples are green.

Answerkey | 13



2 a. A number of girls were born in the house.
b. The number of girls in the village is falling.

C 1 Either the professor or the students are wrong.
2 A large number of people visit this village every
year.
3 The number of inches in a foot is 12.
4 Not only her children but also her husband is for
her plastic surgery.

D 1 Nine percent of the marriages in Korea are
international marriages.
2 Seventy-four percent of the international
marriages in Korea are Korean men marrying

” women from other countries. i
\. J
A

sid » 1 FHES T 1/32 S471H0(CE 2 B2 XMeE2 S47HE0]ck
3 The number of ~= ££ LIEHHEZ THIiEH0|CE 4 Either A or BE

Boll =& LX|AZICE

a4 > 1 BI9E 3 389 12 olyolch 2 B AEel glgie

3 AbsARe] == 7L Qe 4 u obdw W7t esfict

B

1A » 1 a. money= E7HHEAIO|Z 2 St FZSICE b, half F|0fl apples
7t 282 24 FFFICL 2 a. a number of= ‘W O0IZE 24 FF

StCh b, The number of= ~& LIEIEE Hh FZ6iCh

s41 > 14, 7 E o) Hubo] Wokth b 1 Al 3 Ave R
Moleh, 2a, W AuEe] 1 KolA defglth b, 1 nh2e] &
Yo 4t ghasta gl

C

S » 1 1 w4 O™ 1 SHES2 Either the professor or the students
0|, the studentsOfl 5 YXIAIZICEL 2 B | ARMSE2 A large
J=olct 3 the number ofe T4 FZSICL 4 AR
504 BOll & X

number of0|H E4=
gt OfL|2} BE'= "not only A but also B)2] T2 At
AlZIch

LB B 2 HME)S 240 ooz =
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UNIT 20 EXERCISES

— N\
! A 1 would 2 hadn’tseen 3 before 4 hadn’t !

B 1 that he hadn’t seen Neil in years
2 that she had to leave then
3 if she would marry him

C 1 She asked me, “Have you ever hated yourself?”
2 She asked me if | had ever hated myself.

D 1 would start jogging
2 | would do volunteer work for the needy on

i weekends i
\ 4
A

e » 1 FHO saide UHAMOIZE BSLHz AHAME 2Ch
2 since= =AM AI-S LIEHHEE apAARE #2013 had left= &tE
AlMIO|22 before BALS #L0t agos T DZ{AIMO| 2L 4 AlZte] S
EA 17 O|He| A|™0|E2 IHRAZRE LY

341 » 1 Bob& 17} 2 Hobg Zlojeb etk 2 1= 20009
ol TS ®A Fairkn Wt 3 1 5ol 1A Ao
gtk Btk 4 v 2 Sy opy ks ekgtrka
e,

My 1-2 ARO| SHEHMER DIMYES thatE2 RTSICE 3 2I2APL
Q= QR 29| SHHTER2 if/whether2 FESICE.

A > 1 U 2 dE et Neil& B2 3" 2 U= A5 2
dffofrt gtk 3 “Aof A&l FAZ 8"

C

ASS LIEH M= Have you ever + TPHE
Al"\’?JE M, UM E 2 Q222 RTSIEE fask + (T™Y
Xh)+if + F0 + SALE 2L

H

D

> FEOIM AR said7t Aoz ZLHENAME wouldS 22T

UNIT 21 EXERCISES

Atis 3 broke 4 died I

2 freezes



B 1 Minsu goes to Shila High School
2 Tim is married with two children
3 Malfoy became friends with Harry after they
had a fight.

C 1 North America has fifty states.
2 We learned North America has fifty states.
3 I took a nap after | ate lunch.
4 She said (that) she took a nap after she ate/had
eaten lunch.

D 1 “The Seongsu Bridge collapsed in 1994.”
the Seongsu Bridge collapsed in 1994
2 “North Korea and South Korea agreed on a
ceasefire in 1953.”
North Korea and South Korea agreed on a

i ceasefire in 1953. i
————e e J
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a4 > 1 XD Al AMLS SIHS Act 2 Riaf Qs Ao X|
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SiE » HAPH Ardol 2ES ZHHSIHOR HIE Of, JARE Abaoll tisiM
= e AN f

R e————————— N\
A speaking 2 In 3 tendency
4to 5 part

B for the most /tend to / Generally

C 1 Generally (speaking) people sleep less as they
get older.
2 For the most part, Koreans like dogs better than
cats.
3 When he talks, he has a tendency to get lost in
details.

D 1 |tend to make people laugh when | feel good.
2 | have a tendency to have trouble sleeping when
| feel nervous.

i 3 lItendto eat more when | feel stressed. i
———— J
A

1A » 1-2 generally speaking: YEtE o2 A5HM (=generally, in
general) 3-4 have a tendency to ~: ~&t= ZA&F0| UC} (=tend to ~)
5 for the most part: CHEE, CHHIZ (=mostly)

S » 1 QubRo 2 DA, A7F bEASS Uo FeE it}
2 dutde g AAl= Aa ¢ Foh 3 H2 *Pa—% | &2 o

o e Aao] ol 4 Sallyk Ushs 5o 1o vzt
AP e Aol Aok 5 @ S, YA, W A

341 » for the most part: CHH|KSZ  tend to ~: ~5t= Z&k0| UCt

B4 > AL LHs |TARFSS WA Aol QLS Stk 59
o}, A Apdolof?
B: g, WE nl#AtEe] a3
A ),
A L o] ojgpHel Aol qlrka Az,
B: Qb0 W, 17 gt

A got shAlg A Ao

C

SiA » 1 YUHERoZ asiAL: generally (speaking) 2 CHAIZ, CHEE: for
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the most part 3 ~at= 40| ULk have a tendency to ~ A

SHA » 1 ZHESHHO R HEE I HEA thatS AMESIT, RTSHHO| 02t
D AHE UEEZ SiCh 2 THES SO HEE mols HHE Yo
s » ‘~ot= ZE0| U= FOE have a tendency to ~ E= tend to oS 20t 3 QZAl U= TSRS AFstEe 2 viE mols sty
~E HHSIE Qto] Alxl|2t FOI1E Z2iHR BiCh 4 Q2AL gl CI2E2S ZHITsHo R
HHE o] M&Abs itS ARSSICL
A » 1 Tommys “Ue AFOlA A &f "efar Heteh —
Tommy= 717} A|AolAl Ldtthal @3kt 2 Gilbert A= o]
UNIT 15~22 A As A weolls 4F 4 #hef el w3k — Gilbert A
) N = 45 A9 dole & 45 Bkl v w3 3 21de
I A 1 that he works at City Hall. 1 =7 goA I 2L Hex B9t — 2Ys ‘Yo oA 1 &
2 Mr. Gilbert told me to look both ways before S FY?=ka ek 4 Phile YoflA] “UE Y A4S AlEs)
crossing the street. y?'ekal &3tk — Phile oAl W7t b AH4le At =AE
3 She asked me, “Who gave you the flowers?” =31k
4 Phil asked me if | loved myself.
B 1 Simon as well as his parents has been invited. B
2 The number of stray dogs is increasing. A » 1 A as well as B: BHOI OIL|2t AR 2 SA|XIEHSO| SHef=
3 Either you or your boss has made some e +-ing,0ICk, the number of: ~2| 4 3 either A or B: A EE= B 4 not
mistake. only A but also B: A#Zt OfL|2} B=

4 Not only | but also Bill is disappointed with you.
314 » 1 Simon?] Fx¥ul oli]g} Simonk ZTj HPOPE]- 2
$2 NEE] 7F Eoluar gleh 3 Yuk |l Abe] R A
Fck 4 Wt olye) Bille HoflA] Aw3ich

C 1 that he is still hungry.
2 that she drinks three glasses of milk a day.
3 if he had given her a call the day before.
4 that Japan surrendered in 1945.

il NS

C

SiE » 1 BMZEO| ZITSIHE ISR HIE Wol= TEAL thatS At
ol Foiet AME LXIAIZICE 2 ZHESIHO = iR o, Q| AMI7t
70|22 & AMZ 0 %7 TXof S, M= AlSEl=E St

D 1is—are
20
3 did I go —if | went
4 said us — said to us / told us

Sol= SxHAIKE JItHZ 220 3 Q2A} Sl 228 7SO = dt
E 1 In general, women have more body fat than = Mol ™AAL IS AL2SHH, Z4EQ| 09t AIRIZE UX|AIZICE 0f7|A
men. “Did you give her a call yesterday?"= | asked him 2Lt 0|HM9| 0|22
2 Dogs are, for the most part, friendlier than cats. SATO| ANIE TAHAZ 2 HHECE 4 SAE AtZie] A0l St 1i8
3 He has a tendency to exaggerate. 2 20t

4 Considering everything, this tool has more

advantages than disadvantages. a4 > 1 Jake oFA= w7k azepal weith 2 e v 4

Al g w3 v oA uollAl Aol gt

F 1 Before God we are all equally wise and equally 2 P Bogtl 4 ol oXo] 194590 FEauTt bl
foolish S}

2 that courage is resistance to fear, mastery of
fear—not absence of fear

3 told us to be slow in choosing a friend, and (to D

be) slower in changing 3l » 1 a number of= =4 FFTICL 2 M= HEGl= Al B0

4 told us to forget injuries and never to forget £ SRAIMIE ALRSICL 3 QI2At Q= Q220 ZHYSIHolE TSAL IS

l kindnesses i ALESICE 4 TS| SH07t U= ZBR0= tell E= say toE ALESH
7 Ch

16 | Answer key



atiad » 1 W2 ARFEel L A= Hrofl A ok 2 Brade 27)
10e]] &g 7zta D3k 3 ke HollAl &5 Fofshel
A =olRA. 4 Alices TU97}F I Aol Ald3ickaL &
Ak

E

H& » 1 in general: YEO Z2(=generally speaking) 2 for the most
part: CHX[H 22 (=mostly) 3 have a tendency to: ~&t= Zgk0| QCt

(=tend to) 4 considering everything: T2 2(=overall)

8141 > 1 oQlfrERLS 4 Shol 4 St Hro] Wis)
clesED Uit 2 vhe S90S 9]
31, gmel 3t AFolm chagoleta Wik 3 WA EY2

Ao ool 178 28 el A S o2 el o
A3 vk WA 4 A Sal SASIT AR A
dh 91X webw S-elofA ik

UNIT 23 EXERCISES

e N\
iA1It 2 that

B 1 Itis you whoy/that | want to work with.
2 |t’s Mom that/who | love more than anybody
else.
3 It is at the theater that the play is being
presented.
4 It was the reporter that/who exposed the
corruption for the first time.

C 1 |tis dogs that are Koreans’ favorite pets.
2 |t is the parents whoy/that should educate the
children.
3 It was James Dean who/that starred in the
movie.

D 1 Itis not your blood type but your fear that
makes you timid.
2 |t is not money but the greed for money that is

i the root of all evil. i

3 was 4 is !

A

SHA » Itis A that -+ ZETR: - Zd% CHE ol AolCh B itis ~ that ...
ZETE0IM 2 AXI7E ARl BR0l= be SAIR| A= AR £
Ct.

2 o

1A - 1 7} 24 B8 A oPASIE 2 Wk A kel
L AREE Darcyolth. 3 oF4-2 7jmel 2L Zackglth 4 Ut
A7 e AL o] ASol,

B
A » Itis ~ that -2 ZEFTR0|A ZESH= 2|7t ARl BR0l= that

iAol whoE & &= RUCk

silat > 1 W7F S Yot A AR vEE v 2 Yot R

ThE Ak AlgRe 92 elufolt 3 71 Qo] AllEl Fo|
dh T Sl 4 7 HulE Agom Eud Agol v 1
7)3polet,

C

A » Itis ~ that ... ... 3k= Z0] HIZ ~0|Ct

D

rr
ro
N
ro
inl
il
fal
>
o
In)
o

Ir
1o
=l
HU
rulru
»?
9'|_|

A » Itis A that ...
7| #fst E3o|ck,

U1 Y  EXERCISES

r N\
! A 1 dohave 2doestalk 3 didsee 4 did lie I

B 1 She does look lovely today.
2 We do have a choice to make.
3 You did look stupid then.
4 My heart is in the right place.

C 1 | did warn you.
2 | never did like him much.
3 | do mind your smoking.
4 You do look great with the suit on.

D 1 | never did bully my classmates.
i 2ldoregretwhatl said. i

A

S » do2| Flofl SAFHEE MA beSAl, ZSAE MQISH LHISAL| 9]

Answerkey | 17



0l2 ZZE 4 Ik SRIAIK 3218 4 F0i7h 2 B0l Tdoes + SAt
31,2 M0i, IPIAROIME Tdid + SAIRIE,S o)

a4 » 1 U= AR AF7F B! 2 Kevin2 W5 o] go
3 Michaelo] AA|= J3tolA WS HYYH. 4 e ofA vl
AUE ARTE ol

B

s » 1~3 SAt| ZZE do+ SAHEYE 22 Mo, SAMAIH 321 e
F0i7} & ZR0ll= 'does + SAHEE S MM, HAIMOIME 'did + SAHE
&= 2O 4 beSARt ZSAE doSAR ZESHA| =L

Al 1 = 9% ow Holtl 2 gl Auo] oz} Q)
3 Oujj U= upE gol Belrh 4 U A muls),

(@)

H4! » warn, like, mind, look S2| YEtSA= do2 Z=SHH, ZZ=2| do2l

> W
2 £30{ +doo|ct.

OII

-III

D

SHA » regret & LYHLSAIE Zx M= doE ALESIHH, - never do/

does/did + SARASEO Z #C}

IL[I-19  EXERCISES
p e ——
|

A 1So 2 didJake 3 Neither
B

N\

4 can !

1Sodol. 2 Soaml.
3 Neither does she.
4 Neither can his brother.

C 1 A:The rich are not always happy.
B: Neither are the poor.
2 A: | have never been to Australia.
B: Neither have I.

D 1 A:lvisit YouTube every day.
B:So do I. /1 do, too. / Me too.
2 A:l don’t have breakfast every day.
i B: Neither do I. /| don’t, either. / Me neither. i

[ —

A » 1 ZEAF would?] 22| S2l= So would + 01, 2 LHLSAL ot
74& passed?| 2H9| Eol= So did + F£0{;, 3 ZZAF muste] 89| =

Ol= "Neither must+ F£0;, 4 XEA} canl BHO| =9|= Neither

18 | Answer key

can+ 301,

sl » 1 AL Y= 1380 7har 4]

B: W (7} A,

2 A: Victoriat®= 71 A|3o]| At
B: Jake= (§A3Ch.

BA: UH %2 g4t o b,
B: U= ()41 <k H),

4A: U T 0|2 W 5 glol,
B: U= (02 4 gl

B
ailE » 1 LHSAL S| SH2| S2U= "So do+F01, 2 beSAt HxH
& am?| 39| F2= 'So am+F0{, 3 FYE does not2| F2=

Neither does + 01, 4 £X9| ZZ A} can®| S2l= MNeither can + 04,

3121 » 1 A: FranzZ} LS B3 Aoj3)]. 2 A U= 24L& 24
oF 8 & AlFAIE EotelA| Y=tk 4 1= obF WS 5] &
ghct,

C

s » 1 2XHE: the rich, (RE5F) &4 ~= OtL|CE not always, beSAt
29| 9= Neither + beSAt+F0{0|Ct. 2 ~0ff 7H=2 0| giCt have
never been to (Z&), BFO| XZA} havell S2|= Neither + haves

Ab+Z0fo]ct

D

54l » 2ol =o| BHOIIE So+ SAH+F0l,,
too. .2 £ 4 UCE B S| HEJ0= Neither + SAE+ 04,
EAb+either;, Me, either. (= Me, neither) 2 £ 2= QIct,

UNIT 26 EXERCISES

A 1 is my passport
31go 4 isarisk

20| + SAt+too), 'Me,
=0l + 24

( 3\

2 were two fish !

B 1 In the fishbowl was a goldfish.
2 There used to be a well here.
3 Long ago there lived a rich merchant.

C 1 Once upon a time there lived three princesses.
2 On the mountaintop stood an old castle.
3 There seems to be no doubt about it.

D 1 Once upon a time there lived three faithful
brothers.



2 There once lived a poor farmer with ten
children. / Once there lived a poor farmer with

i ten children. i
\ J
A

S » 1 Heree EAIOIEZ TEAL+ SAF+F0{,2] 04&0|Ct 2 In the
pond= FALOIEE TEAL+ SAH+30{,2] Ofa=0ICk 3 CHHEAL 02! &
2 TEAM+ 0] + SALLS| Of==0|ct. 4 There= EAO|I2Z TEA+ &
Ab+2Z=0429| Oofz=0|Ct.

a4l » 1 of7]0f Uf ojdo] Qlef. 2 AR Sl &aL7] F vhErt 3
ek 3 A ohA] AR 4 Asfo] $lo] Tk

B

A » 1 in the fishbowl7} EAHOSE £0)0|22 Fo| "SAH+ 07 &
Ct 2 there7l BEAO|E2Z2 FHol| 'SAL+F0{,7F 20, YHEHOZ Mhere
used to be + 30, Aoz ALl 3 There lived + 30 (F0{)7} At

C} long ago= 5Lt 20|of 2Ct,

844 > 1 ofF} Lol F5ol7k AASIEh 2 of3te] -=of ULk 3
of ol Rt of® A}le] Ak ich

C

A » 1~ MUICEE Tthere lived + 0,2 #£Ct 2 on the
mountaintop(AECH7 [of)7F 2AL0|22 250 AT FHof| "SAH+ F0 2 £
L} 3 '2JAl0| Q= S3ICF= there seems to be no doubt ~ O|Ck.

D

A » 1 ‘~7F AUUCPE Tthere lived + FO0,2 2Lt 2 onces ‘Aol
ojo|e| BAIRZ 2F0i| ALt there lived ALO|of £ 4= QUCH

U1 PYA  EXERCISES

I N\
H A 1 isthatlady crying 2 he has !
ycry
3 bought 4 we are

B 1 | wonder how rich Paris is.
2 | don’t understand why she is mad at me.
3 I haven’t decided if | am going to do the project
with her.

C 1 How can | tell if she lied to me?
2 I’m not sure if | will have time to see you this
afternoon.

D » Example answers
1 Do you speak Korean? /| want to know if you
speak Korean.
2 Who recommended kimchi to you? /| wonder

i who recommended kimchi to you. i
\ J
A

SHA » 1 2AZADE U= QR EE 2ZA+ SAH+ 0| ~7,2 #0f 2 9
2AP} gl 2R 22 fif/whether + 01 + SAL (or not), 2 #Ct 3 9
TAZE F02 HRE TOEA + SAF ~7,2 20E 4 2ZAPt U= 2HHe
FEE2 QZA+ 0 + SALE £LL

S41 > 1 4 U o) 23 Gke? 2 2 gl ofx 177 9l
4 GEAE U ohl? 3 %7h el 1 HskE AP
4 $2)7} ojt]z 7h=A) 2 o),

B
SiE » 1~2. QZADE U= ZHHOIE RS BLER QZAH F0 + AL
2 2r}. 3 2APt gls A2 E2 SETOIN if/whether + 3501 + SAt (or

not)2 £2Ct

Al » 1 U= Paris7} Aoy RG34 FEsith 2 Us Tyt
N oA B WisAl olsfiahAl SRttt 3 v ek oA 1

4L & AW A EH,

C

SHA » 1 ~2 LHZF oA & & UXI?”: How can | tell if + Z0] + SA~7?,
2 2L} 2 '~2 #Al5lE 22ZCF=E Tm not sure if + 20 + SAHE 2L}
D

A » 1 ‘~QIX| OILIXIZ &1 ACF= T want to know (if/212AD + 3
O+ SALE £LCL 2 2EATE F0Q! R0l 2AZAH+ SAIIE M, |

OIZAP
wonder= ZIFQIREE FlSiCh

UNIT 28 EXERCISES

7 \‘
! A 1 canl 2 didlrealize !
3isshe 4 canyou

A

B 1 Not until yesterday did | hear the news.
2 Hardly had | entered the house when the dog
ran toward me.
3 Little did he realize the gravity of the situation.

C 1 Not only can she make people laugh, she can

Answerkey | 19



make them cry.
2 | don’t know anything about it, nor do | want to.
3 Not until much later did she find out what had
happened.

D 1 Not only is my father a very capable person, he
is also humorous.
2 Not only did our team win the game, we won an

” overwhelming victory. i
\ 4
A

A » 1 B2 S9|= Mor+V+ S (SE ~3IK|= Y=ChE 20} 2 MNot
until A+V + S, (AStZ Mo HZ2A ~3&tchHo| ESol|ch 3 "Not
only+V +8, but S also, (S= ~&t &8 otL|2}t 517 |= SIEHE MM, but
also= =8| MZEICE 4 Only £AFE / BAFE +V+S) (2F! ~Q1 Z20||
o ---5lChel E3H0|Ct,

Al > 1 AL UE AEE S glow, U A ile Hud 5
Qloh 2 U 9] dFS HaAol HlE4 a7 231 gtk
AL A =3k 3
4 o4 s ARt 22}

u
=
i e
=Y
>
I m.lo

sHA » 1 ™ot until A+V+S;: ASIZAOF HIZA ~3Ct 2 THardly/
Scarcely had + S+ IHEA+when S+ 2HH): ~SHXHOERL ---3iCH 3
litle “H2 ~3X| e4Cte| ejojolct.

sia > 1 014 M2 A e 1 A4S 59 2 U7k 2 ol ol
AR L= Yol A EeETt 3 e A Aske] A7
< QJASHA] STt

C

a4 » 1 "Not only +V+S, but S also: S& ~& 23t ofL|2t 317 |= 5t
C} 2 BX2 =0|= Tor+V+S: SE ~&HK|E 9&H=Ct 3 Mot until
A4V +S;: ASIT MOt HIZA ~5iCt

D

5HA » "ot only +V +S, but S alsoy: S&= ~& 80t ofL|2} ---317 | SiCt
047 |M but (also)= k57| = SiCt

v oo T
N\

H A 1sheis 2 hehas 3 Oldas 4 hedoes !

B 1 That question | have already answered.

20 | Answerkey

2 Rich as/though they were, they had no children.
3 People like that, you’d better ignore.

C 1 Bugs like cockroaches, she hates.
2 What he is doing outside, | don’t know at all.
3 Improbable as it seems, it’s true.

D 1 Shortas|am, I’'m a pretty good basketball
player.

i 2 Fat as | am, I’'m pretty good at dancing. i
\ J

A
si& » 1 2oi7t FHjofel 222 20| 2 20| + 30|+ SALE 20
2 207} 270 2 EYoICh 3 asHe| HYEAME LA 1] "FEA+as

S+ V2 20t 4 2H0{E What + he does?t 250i| ST,

S41 > 1 T Holuth 2 BujRg Al Mol 1k ik
3 1% Lol BUAT, Uk o3| Asith 4 17k Fe A
SHA obfE mErh

B

SiE » 1 X017 2F0| 2= FR0= 'SH0 + 30+ SALZ 2204 2
As/Though Zo| HEAIE FHOZ UMHE 82 "&EA +as/
though+S+V,2 20 3 SX07F 2500 2= FR0il= 'SX0+F
0l + SALZ 20},

s » 1 2 Aol v o] tigdith 2 Wis FAAAR

5ol A4l gloith. 3 T AlEFEolald Bk A £
Aol

C

SHA » 1~2 SX07t 250 2= dR0le 'SH + 0| + SALE 2Lt
3 As/Though Ho| HEAE FHOZE UMES 22 "8EA+as/
though + S+ V,2 £L},

D

SiE » As/Though EHe| HEAIE FHIOZ WAME Z2 &8t +as/
though+ S+ V2 £LC}

UV  EXERCISES

r N\
| A 1 first(ly) /second(ly) 2 last |
3 Lastly 4 in 5 all
B 1 Atlast 2 (flinally 3 (e)ventually



C 1 decide /end
2 At last
3 First(ly) / welcome you / Second(ly)

j D following / first(ly) / second(ly) / lastly i
- J
A

SHA » 1 A HIE & = first/firstly2 A1, 0|0{A] second/secondly,
third/thirdly...2 £2Ct 2 22f 7|CHIALE =25t Z0f| 0|R0{T ZBR0ll= at
lastS Lt 3 2 AjZH0| S2 Fof LAYst US LS M finally(= lastly)
£ &Ch 4 2E A4S 125t Foflzks 2J0]2 in the end(= eventually)S £
C}. 5 First of all2 CHE 2L A, 7FA HA{2| 2lojo]ct,

aifad » 1 o] HIEL T 71A] Aol Atk A, AR, =4, w
2ot 2 vy 2|7k ol matelA v 7w 3 A= 3t A
£ Alelsiar B i EFGUE veeR Z7|5HA] upAle.,
4 Aol feles oA v 7ekal el 5 FolEnE 11 WA
< 52 e Ayt

SHA » at last, finally, eventually= 25 ‘OF2ILH, ZA=9| Q|ojo|ct,

i > 1 A Ul 7 SHE WokTh 2 1 Wk nRy 2012
ol S 3 Jus A AlRAblA A= E 3t

C

SsHA » 1 222, OFEILE: in the end 2 EC|OH, OFRILK: at last

first/firstly, & HMIZ: second/secondly

3 Jdmj, HAL:

D
A » following: CHS0| LIR=, 1 CHS:
secondly: EM| lastly: OFX[2fS 2

TEST 4 UNIT 23~30
. _

I A 1 Me,neither. 2 Sohavel. /I have, too. 1
3 Me, too. 4 Me, too.
5 Neither do I. /| don’t, either.

9| first/firstly: M, AW second/

B 1 She heard the news two weeks later.
2 |t is Albert that/who is the smarter one.
3 They are going to Brazil, not Uruguay.
4 It was not until yesterday that | was told that
the event had been canceled.

C 1 Never have | seen such a horrible thing.
2 How you married her | don’t understand.
3 She did behave badly.
4 Rich as/though he is, he doesn’t think he is rich.

D 1 were the pyramids — the pyramids were
2 So — Neither
3 had | — | had
4 norl—nordol

E 1 There are two reasons why we can’t do it.
First(ly), we don’t have enough money.
2 Second(ly), we don’t have enough time.
3 At last the government is starting to listen to
our problems.
4 In accepting this award, lastly I’d like to thank
the film crew.

F 1 Do call me and let me know how you’re doing.
2 |t was him whoy/that asked me to go out with me
first.
3 | did tell you it wouldn’t work.

i 4 1t was you that/who picked a quarrel with me. /ﬂ
\.

A

a4 » 1 Me, either. L= 2ZX| 94Ct (= Me, neither. = Neither do/am 1.)
2 3Y=0| et S2l= "So+ SAt+ 301 ~EEst -5t 3 Me, too. LIz
JCL (= So+SAt+301) 4 Me, too. LI= JHLCE (= So+SAH+F
0{) 5 LtE J2X| &Lt (= Me, neither. = Neither do/am 1.)

st » 1 AL L= o9 T IH7F 4o,
2 A v FYAEE E Flel
3 Al U s 7HE Heo] glo,
aAE 7 ol

5 AT L 1ol 8 FolakA got

rir e y
4o
.

B

S » 1~4 Itis ~ that ZZTZ0IM It is, that H2FsH= 2l0l= ZT It is

~ that ZETE20IA A2l AL0]= that EE= whoE £ & UCH

B4l > 1 TIU7E T A4S HRE AL 25 Flgith 2 o BEa A}
2o Albertolth, 8 1Eo] & 22 9 fol7} opfe uhz et
Hole, 4 ofA] Ml e 1 Wbt HaErhe 242 59
.

C

MM 1 &

0z

0f

T
oy
o
|_|=|'E

50+ SAH+ 02 20t 2 SIS
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FHIZ BxE FR 'SHO(T) + F0{ + SALE 220k 3 YHSAIE 22X
&t A2 AMloll LA "do/did + SALE 22Ct 4 As/Though Ho| HEAIS
FHOZ LMIE 22 "8&At +as/though + S + V2 2L

siat > 1 L 291 TS 9 2 Aol gich 2 y7t ojgA 1y
of AEWEA L olald 4 gtk 3 I AU 2E e
e 4 R 2 28 Az st

D
S » 1 ZHHQIEZEE TQZA+ F0i+ SALE 201 2 BHo| 3ol=
Neither + SAt+ F0,2 2C} 3 QZ2Al Y= ZH™o|ZR 2 Tif/whether

+ 301+ SALZ 2201 4 29| 2= nor + SAH+ FOLE 201,

4 » 1 U= wjet|=r) oAl ASESEA Fasht 2 ve
Uekeo] 7R o] ik, e I8, 3 2y Wk 2 AE 2
U=AE =T 4 v Fofol AT e QAL Sk 414
= gtk

O rfl, St

E

A » 1 W= first EE= firsty2 #£LCh 2 SMi= second = secondly
Z 0}, 3 at last: =C|0], OFEILH be starting to listen: HE 7[2017] A&
SICH 4 in v-ing: ~GHHA

F

SHA » 1 UPESALS| R = do+ SAMRE R #0t 2 AlHs ZXE
HS MLL (it was him that ~) 3 YEEEA} told2] Z&

b

= did tel2 220t 4 A2 22 M= Itis ~ that ZAZHS 20 (it

= ltis ~ that ZXEHS

was you that ~)

.

| A 1 days 2 butterflies 3 playground 4 sheep !
B11)a2hb

EXERCISES

21)b2)a

(@)

1 There are lovely flower gardens in the
amusement park.

2 All men are created equal.

3 A dozen eggs means twelve eggs.

4 A baker’s dozen means a group of thirteen.

D 1 There are two bike paths along the river.

” 2 There are some bills and coins in the safe.
\.

| —

A

S > 1 RS +y2 BY 22 HIZ 52 BOCL 2 wovt Yooz 24

22 | Answerkey

SO 2 Mot STt XIS +yE BY 4R yE 2 HHE & esE 22t 3
aZt A2 HAHO1 playground?t HWCL 4 sheep2 T 540 HEY

7h 2L

-

A > 1 AE Wol Atk 2 O vy F upEE s 39
ol =olg7F glek. 4 @ vhE]o] ol SolA &5 WAL gloh

=]

o

{41 » 1 1) childe CHM0|22 beSAL isQF &0| £[0{0F 3t} 2) children
40|22 beSA} are®t ®0| Zofof StCt 2 1) 7HE stLo|E2 EHa

[ZsHioF BiCt 2 2) O 7HEES0|22 S FZaHof Bt

rlo

P

atiA » 1 a. Ann9] o}o|= ujj-- g5t}

b, T159] ofolE2 vl Eilsirt,

2a 7}5-2 ARB|E] 7]o] Hr,

b, ThAl Al E0] o] A&ollA] Akt
C
S » 1 ‘~0| UCYe| oO|E LIEHLH= There + beSAt+ 30, FESR
2Lt garden?| E4™2 gardensOICh 2 beSAt+ THEALL| +SEIE
£CF man2| 2482 menO|th. 3 fa dozen+ FALE §t CAS| ~'S £
5iCt a dozen Fol= S+HAE £L) egge FOl -sE 20 42 LEt
HHCE 4 THRIHARR! Ta dozen 2 T4 FlFot2 2 SAt0| sE 22Ict
D

i » 1 pathe Foll -s& 20 24802 LIEHACE 2 bilZt con2 25
Holl -sE 20 B4 2 LIEHICE

A » 1 7S whek F ) A =27) QL

o BAF0| F Urt.

Y o > W
N\

| A 1 adentist 2 an 3 anicelittle 4 a I

2 watef A+

B 1 J.K. Rowling is a British writer.
2 | have a hundred dollars in my wallet.
3 We have one P.E. class a week.
4 Our school is looking for an English teacher.

C 1 Her mother is a famous translator.
2 The car was running at a speed of 150km an
hour.
3 A dog has a keen sense of smell.

D 1 |read three books a month.
I 21have four meals a day. |




A

SiE » 1 dentist= & 4 A= H AL 0|22 0| aZ %010F itk
2 Hxt= XI20IX[EH [em]o2 UZES 2 anS 20{0f STk 3 R
At+ @A+ BALC| 02 AL} 4 per®| QOIS LIEILHO| “~OiCke| £
= LIEILEZ a7} HESIC

41 » 1 Lo ofakis AHolrtol Ak 2 U MP3 Eellolo} 2w
9?3 Keving o1& Watolololch 4 S obxui
szl o M4 oAl

SHA » 1 TEXMEAL+ SHEAL+ EALL| 29 F 2Lt 2 Ta hundred + BAL
2 £L} hundred F0l|l -s& 20|X| &= Aofl F2I$ict. 3 a weeks "UF
2otcrel Ssolc,

5144 » 1 J. K Rowling> = 75]—7]—011;]— 2 L]—L: 2|7k 10022
7k Qltk, 3 e AR 3 W AL 4240 Qltk. 4 S &)
W= Fol A B 25 %6}1 ik

C

ai

Hr 1 XZE AMEShE BAL Holl= aS 220E 2 hour?] A X1l he
20|22 ang Mof 3Tk 3 thE T4~ LIEHHO| A dog2 2 MOF BHCf.

Ho

D

s » 1 a month: 8t Zf0iCt 2 a day: S0}

UNIT 33 EXERCISES

Vg N\
H A 1 The English teacher 2 the 3 a,The 4 the !

B 1 I'd like a tuna sandwich.
2 Could you pass me the bag?

C 1 The milk in the fridge has gone bad.
2 The Han River runs through Seoul.
3 Did you lock the back door?
4 The moon is a satellite of earth / (the) Earth.

D » Example answers
1 Could you shut the door?

” 2 Would you like the green apple? i
\ 4
A

SHE » 1 the + FEAt+ BALS 202 #0f 2 M2 2D U= T IS
712|7 |22 FEAL theS MOF BiCE 3 H Il 2S: ‘SiLte| AME'S LIEHY

SHEUL 0B MWOF SICh & I 25 W3 JIRIZE T AY'S Liekd
2 HEAL theS MOF ik 4 RUSH XS LIEHY Tol= FEAF the &
=

o rr

341> 1 1 oo} AL Sehgololeh 2 Sam, U] 3
sl 37 Avel] Alze Alge] st oleh 1 Age gt
SAE AT 4 9ol o5 2 1A EH,

Al » 1 MEQIX| SIS 5102 a2 MA] LIEFHCE 2 M2 L1 Qs
‘I 7HPE IR E the2 MA] LIERACE

Al » 1 A FESIA R 27
B: U, ZAAMESA] sl FA8.
2A: I 7PE v Al AWEE?
B: ¢47] 9l

LILE J712|7|2 2 the mikE £C}, 2 4 0|21}
%04 £01 3 M2 21 Q= SRE 27 IR
2 X|7et 22 RUSH Holl= theE 20 £

ct.

D

A » 1 M2 U1 Qe ‘T 28 71217122 the doorZ 2Lt 2 20]
I Q= HIZ ‘O Z2M AIIFE 712]7|2 2 the green appleE 2L},

un

FAHA? 2 0] 224 AUE 9 U2

UNIT 34 EXERCISES
e N\
H A 1 Your dog 2 This time |
3 your mobile phone
4 daughter of hers

B 1 She is a student of mine.
2 |'ll choose this red one.
3 | have seen a friend of yours.
4 | lent my only dictionary to a friend.

C 1 Ronis ason of his.
2 |s that pretty girl your girlfriend?
3 Our only hope is the company.

D 1 This tablet PCis an IT gadget of mine

i 2 Know-it-all’ is a nickname of mine. jﬁ
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A 341 » 1 Erice @ A9 7lebE 20 ik 2 Wt Fof 5784
3 Helen Keller= #ol| & 7F AFFES Hal 4lo] Fich

3%

A » 1 BETAL a2t ARZ2 0|0IM £ £ QOB R a2 AFSICL 2 8

AL a2t SFHAL= 0|0A & o~ IO =2 aE MX[SICE 3 AR} the2t

ARZAS 0[01M £ 4 YOO theZ AXIBICL 4 LHBAF a®t ARZHS B

001M & 4~ QleE 2 Ta+ HAt+of + ARUBALE HHHA] Mok BTt 314 » 1 Tthe old: =9I 2 the blind;: = H ARZS 3 fthe unemployed

S > 1 Ta+ BA+ol+ ARURIALS 202 £rh 2 TBEA+EE |
Ab+BALS) O #Th 3 Ta+ BAL+of + ARCITALS 202 £}

sie » 1 25715 LEHE M= #AS 201X] ¥=Ch 2 the + AL
s> 1 T o] holth. 2 Uk o] WkAlol AL Aglsly) | = L SIS JH ARSS SRt the +old) =915, Tihe + young :
ok 3 s o] AS Holstth 4 Ui slLjuo] gl Al | 2015 3 TAIEQ! SHoRMel oI LI T REBAE AIBE 4
© oA W=} QUCt o7]e] HFSHS LIEHE W= FEAL theE L1
C D
S > 1 Tat BAF+of + AFUBALE S0 2 SHHIMS BAE 43k s » 77| 20| ‘'S UE ths SHBAL X 5 AFB104 LIERHC
CIE SAIISHCE 20l 20t 3 MeFgAL+ EEAt+ BALS| =0 2 £2Cf 2= Z7|2 LIEMY M= MTA} the2 &L}
D SA > 1 T8 BTFS T ) 2w gk 190 Ok 578 S
B4 > o+ BAF+of + ARTIPALS] 202 ot Ao 2 T ot S EE 2 9loh TEA O ok
sk qlok
UNIT 35 EXERCISES
e N\
! A 1 guitars 2 basketball 3 the handicapped | UNIT 36 EXERCISES
- N\
B 1 The old live in the past. i ‘
) . A 1 lunch 2 school breakfast 4 subwa !
2 The blind have a keen sense of hearing. 3 4 y
3 The unemployed must not lose hope. B 1 a. Many students skip breakfast.
. . b. And then the students in school have a bi
C 1 He started playing baseball in Japan. lunch g
unch.

2 The old say “Today the young have no manners.”

2a. i .
3 She has a piano, but she can’t play the piano. a. lwas going to Brooklyn by subway

b. | saw a blind beggar on the subway train.
D » Example answers

1 Hi . L
1 He has two basketballs, and he is playing C 1 His mother had dinner with his homeroom

teacher.

basketball. L
. . 2 We go to school to study, not to kill time.
2 He has a baseball and a glove, and he is playing . .
3 Today a lot of people communicate by email
i baseball. i i ctead of post
e ) instead of post.
A D 1 In Seoul, over six million five hundred thousand
people a day take the subway.

& » 1 %719 25 SH0| ofd SAS2NS S IE e = FaE 2 Twenty billion four hundred million people
A of 40 SSEORE LB S 30, 285 Zol0is BAS 20X i traveled by subway in Seoul in 2011. i
%=Ll 3 the + ¥EA= SFBAE LIEHHTE N J/
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A 2 The hairdresser is holding a pair of scissors in

s » 1 OFE, 4, XDt 22 AN Qols BME Mx eeck 2742 | | onehand,and acomb in the other. )
0] 29| SR 2 MRS moll= BAHS MX| OF=Ch 3 AA Yofl= BAL s
£ MX| of=Ct 4 by + nESTHOE MY AR0|= TALE MX| =Lt A
siAd » 1 Q1A T AA] WRp 2 28 AFLS K ko) 9A7t sl » 1 7H2l= Bt 40| 20 StLte| E71E 0IR 22 S =43 F §ict
2] 7tok 3k}l 3 olAIAlE HE HYLER? 4 $al AHL g 2 pants= Y =43F st FAoILh 3 S UEH= Q!
7h= A wlo]. hundred, thousand S2 0fl 2 0|&2| KA} Liet: Fof -sE £0IX| &
=L 4 (the) police= B2 MM, ZF §F 'S LIEM moll= a police
B officer, a cop S22 #Lt,
SHAL Al oholl= =} EIE; otr] A_!A = A)%I; E S|
SHA » 1 a. AAF ol BADE QS| ALt b. AAIE SAlstks E8AL A 1 0] ZFOIE WE D19 2 Up Wb vl g WS 2w
o & = M A | =
7t 2 A2 HEAF U0l a2 2L}, 2 a, by + BELTHOZ MU M= WS QITh 3 Aol 4 T} WA & gloAsta? 4 ARG B
SEF M0l BALE MX| §4=Ct b, mEST A0l by0|2le] Ho| & ZR0 2pa?
= BAE 2 4 o
B
s8> 10, B ShYEo] obde AR, e e
b, el shaolA B4 ol v e Ao o A
- N Al irol| -s= £oIc] i s os | 2y
22, U= AHS B7 Brooklyn© 2 741 gl Zo|git), 7H4=7+ 2 O|40[H pairdil -s5 E1|_ }. 1 four pairs of heels: 75 | Z2|
- i - M=22IA i i -
b, U= 23 otolA] = W AX|2 wokh 2 three pairs of dark glasses: MZ2tA M| 7 3 two pairs of scissors: 7}
2| = XIE 4 two paris of short pants: HHEX| & &
C = 1. =] 5] A =2 ) L Ll A=
A > 1 = shold Y] ZHE Atk 2 Harry= A28
S » 1 AL 0= BALE 20[X| Y=0t 2 74E 0180] 2ale] =Xe Al Al 23 9k 8 el 719 = 227t Wasith 4 Ui bk}
2 Mol A20]l= BAE MX| b=Ch 3 by + SAleEhS LER molls 2] = WS 77 Qi)
HALE 20|X| =Lt
C
D s » 1 WO = 0|20Z! 2719| Jh+E LE o= "a pair of ~E At
siA » by + mEEHS LIEHS Mol AL theE 20IX| 24=Ct 510§ LIEHHCE JH=7t 2 040|H paird]| -s& EQICt 2 glass= ‘REIE
S5t 'S LERE Mol 2480l glassesZ MO §iCt 3 (the)
police= ZAZe| £2|E LIEIH S FZsich
D
U1y  EXERCISES
7 N\ s » 1 o2 0|R0{El E242| JHE LIErd molli= a pair of ~& £Ch
| A 1 scissors 2 pants ! 2 a pair of scissors: 7+¢| st X2

3 hundred 4 the police
attAl » 1 1= Faze] g S ShaL Slok 2 11w EAbes 3 &

1 She has bought four pairs of heels. 7hol2 =1 91 ThE & &4l HIS

2 Harry has three pairs of dark glasses.

3 We need two pairs of scissors.

4 | have two pairs of short pants. UNIT 38 EXERCISES

C 1 | have three pairs of jeans. 7 N\
2 She can hardly see without glasses. ! A 1 Thedog 2 milk |
3 The police use force when (it is) necessary to 3 dollars 4 money

stop criminals. . . .
P B 1 There is some furniture in the room.

D » Example answers 2 He had some money.
1 She is wearing a pair of earrings. 3 She had some baggage.
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C 1 Chicken soup is good for colds.
2 The Korean currency is the won.
3 They took all the furniture out of the room.

D 1 a:There are two trees.
b: The table is made of wood.
2 a: There are four tomatoes.

i b: Ketchup is made from mashed tomato. i
[ —
A

A » 1 dog2 A £ U= HRFA0|EZ ol a E= theZt 210F SiCh
thes & £ U= FALRL A 2 gl= FAL ol 25 2 4 ot 2 mikes A
2 SlE HAO|2Z B480o=2 LEMd 4 gltt 3 dollar= Floll sE 2
24502 £ 2 ot 4 moneye A £ Sl FAOIEZ 24802 £
4 gict

44> 1 7 o) A ke oItk 2 4 obdelar
=]

SHA » 1 A 2 Ql= HARR furnitures TH FIZSICE M2tM areZ is2 Hf
ot St 2 coinzt bill2 Al £ QU= HAR! HHH moneye= Al 4 Q=
AtoICt 3 bagdt suitcase= M £ U= HAR! HtH baggage E=

luggage= A 4 = HAtO|CH

9}, — 2 oke] £ ;z Gick, 3 v 7 2 ek oqw
L ok7ko] R& zka1 Qi)

SiA » 1 ~0ll ZLk be good for 3 ~ZFE .= SO{LICE take ... out of ~

D

S » 1 tree= M 4 U= AR 20l +AE 20 JiE LEE 4 UK

2t wood= ‘FA'Q| £e2 A 4 gl= HAOICL 2 tomato= THUQ| £
oA

|
T 4 4 QUxISt 22|E SAl0| R T 4 4 gict,

s> 1 a, U 5 57k QI b, 7 iRk YR whE oAl
2a, E0kE7} ) 7 9tk b, A1RE o7lx EnbE 2 ghEolxit

UNIT 39 EXERCISES

e N\
' A 1 sheets 2 information !

26 | Answerkey

3 glass of water 4 coffee

B 1 He is folding four sheets of paper.
2 | drank a liter of water.
3 We need a kilo of sugar.
4 She drinks four cups of coffee every day.

C 1 My father smokes a pack of cigarettes a day.
2 My family uses a tube of toothpaste a month.
3 Can you give me a piece of advice?

D » Example answers
1 He gave her a box of chocolates on Valentine’s
Day.
2 She gave him a box of candies on White Day.

1 1
B —

A
S » 1 $AH2 O[&0|3 THITAL Fofl -s2 20|H, of Fo| AN s5
20|X| 9H=C} 2 information2 Al 4 Q= HAIO|ZZ 24502 & 4 9

ot 3 A 4 gl= BAls HRIBAE AHESHH 5 UEHHCE fa glass of

water: = ot Z 4 $APE2 0142l AR HRHAL 7ol s E0(X[2H A
Q= AL FAll s 2 & Qlok

Si41 > 1 50| AR FAL, 2 7 TS B PR} ok
Pt 3% T AL T At 4 A% B @ B,

&

B

SHA » A & Sl= FAE AL HRIZA+ BALE AKSst & LIEH
2= UCE 1 Tour sheets of paper;: S0| W & 2 Ta liter of water: = 12|16
3 "a kilo of sugar;: A&t 17|2 4 Mour cups of coffee;: 74O 4| %t

s8> 1 T o] B g2 AHx itk — T Fol U] A2 AHx

otk 2 U 22 ol nhieh — U B 1982 vhich 39
2t Mol ofzt Basith — St Mg 17120} Basich 4
T whel ADE AL, — e i A ) - mhalch

Ao A £ Qe BAs A HRIHAL+ HALE 85I &5 LIERH

QUCL A 4 Q= FAE HRIBAME 0I86t0] £ moll= HAL Fofl <&
ol 4 Qlck 1 =il §t 2 a pack of cigarettes 2 X|2f St 7H: a tube of
tCl: a piece of advice
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]
w
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AH= AL+ THHAL+ HALE AF2510] 2 LIEt
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U}  EXERCISES

s N\
| A 1 Vincent 2 Goghs 3 teas 4 the Bakers |

B 1 I’d like four coffees, please.
2 The Chinese speak a variety of languages.
3 | introduced him to the Wilsons.
4 That is my favorite Chagall.

C 1 Can you make four teas?
2 He and his brother drank ten beers.
3 The Simpsons are active people.

D 1 Henry Ford was the founder of the Ford Motor
Company.
i 2 | bought a Ford yesterday. i

A

84 » 1 AJZHS LIERLIE TIRBIAOID2 A} GIO] MoF BICE. 2 SFQI2)
B 4E 58 LiEf Ghs BAF 20l aZ M7ILE Flol 58 20 48 Lt
@4 ok 3 B9 BAIS A2 UT U B, B9l UAE Ao%ﬂ A}
S0l 58 2 4 ATk 4 H)0| 52 £0/T thest B M8 J}E Of2
el 715, sirel o2 Mol

840> 1 HIALE B 155 BF itk 2 vl L)
A A ol ok 8 A Al B FAIL. 4 e BakerdY] 7}
52 yhfa Ao,

B

sl » 1 ZATILE 3, R SO 827t B HIS M2 ¥T U= FR B

ABALS MBI SR0| 58 B0 48 LIEN 4 Uk 2 the+ 27}l
HEALZ 1 L2t 2 MAS LI 4 0L 3 M40 58 20{ thegt
S M 715 i RRE LIEIHD, 4 STOIO XE

AR S =22 LIEHE &+ T

OII

— o —
E=ME2akEe

et » 1705 ] 2 FAR. 2 FAASE o] $el Aol A}
8T 3 e oA Wilson REE 274, 4 o2 U7t
Vg Folati Apze] HFolth

C

i » 1 SEIHEZ HIE M2 Y1 US G TRIBAE d2fetn ¥
ALof| -s& 20 M| Sict four teas: Xt 4| &+ 2

LT US B HRITBAE d2stn AL -sE 20 MI|= ST} ten

beers: MF & W(Zh 3 7tE £ BEE LEM of @40l -sE 0|0

A0l theS MM HEHBICL

D
A » EIO| ME U XHE2 a+ IRYAL T Al-s, 2 #C}
UNIT 41 EXERCISES
) S N\
! A 1 uncertain/doubtful 2 doubt I
3 certainty 4 doubt 5 about
B 1 Idoubtit. 2 I’m not sure.

C 1 | doubt that interest rates will come down soon.
2 I’m still doubtful about the chances for success.
3 Everybody is uncertain of/about their future.

D 1 I’'m doubtful about some rumors about the

singer.
2 | doubt (thatyif) the history textbooks are a kind
” of distortion. i
\ J

A

314 » 1 I'm uncertain about + ZAKTL) / I'm doubtful about + EAKT): ‘~
0| BHAIBIX| QICF, ‘~0| QJAMARLCY 2 There is doubt about + HAKT): ‘~
0| QMARCE 3| can't say with certainly: ‘EHAl QA 25IX| 2 SHZICK
4 | doubt + HAKT): ~2 QASICH 5 be doubtful about + BAKT): “~0|
OIMAZCE, ‘OlaHCY

4> 1 B/E AEE Lgdole), kol ok ollo] Evf. 2 3
4614 ik, 200 oRel elel Slek 8 o, W 2 e
71 o] A9 4+ ghen SHsHA wak skl
4 A: 71309 o3l SIS
B: oh] 2, ol4le] Sofg,
5 1 A ool chef 7R E o] £t
B

14 » 1 | doubt + HAKFY): ~0| EHAIGHK| QiCt ~0| QMAZICE 2| can't

say with certainly.: A 2k 2bst 2~ GiCE (= I'm not sure.)

Al 1Al 150
B: 2287 A

2A: o]Ao *d

B: gile zta

C

1A » 1 ~0| 2JAlo| =Lk | doubt that+ & 2 ~0| QAAZLCE OjAMCH
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I'm doubtful about + HAKT) 3 ~0| SAIGEK| 4CE: I'm uncertain of + H
AHT)

D

514 » 1 I'm doubtful about + HAKTY) 2 | doubt + that® / | doubt + if&

UNIT 31~41

A 1 his 2 some bread
4 information 5 the dishes

B 1 Mark is a good friend of mine.
2 | visit my grandmother twice a month.
3 We had better go there by subway.
4 Why don’t we have lunch together tomorrow?

C 1 The handicapped must not be isolated.
2 The rich man has two Chagalls.
3 We’d like three coffees.
4 I’'m a huge fan of hers|

D 1 a= Ak
2 a= AF|
3is—are
4 a my old friend — an old friend of mine (@= Atx|)

E 1 I’m not really sure what’s wrong with her.
2 | can’t say with certainty that | have made the
right decision.
3 It is doubtful iffwhether she ever reached the
summit.
4 | doubt he stole the credit card.

F 1 I bought ten cups of coffee / ten coffees.
2 | bought a pair of sunglasses.
3 | bought two pairs of short pants.
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3 breakfast 1

4 | bought thirty bottles of water. i

ork, 5 U A7X1E g Ry,

SHA » 1 Ta+ YA+ HAL+ of + A
month: ¢t &0l &= H 3 by + 1E4H S

=L 4 AAF 0ll= theS 20IX| b=t

FUHEALL| =02 #C} 2 twice a
LIEFY mofls theZ £0IX| ¢

341 » 1 Marki= U] & olth 2 U g ol & 3

Y g wEsitt 3 e 23] 43e g sk A

4 99 Y ol A4 HeHa?

C

s > 1 fihe+ HBALE ~Bt ARIE'S £OZ 4SS Lietcy
SFQIZI DAL 5B £0/3 T ARYO| BE E= NES Liehict

3 BV H7l HRIBAIE A2 2T US Gols THRIPAE M|

= Bich 4 BFAL F B Holof

siA > 1 Aol7E s AFEEC] 2fEolAE ¢
IR AR " R AL A%ska oot 3 ﬂﬁl Al 2h&
Mg, 4 v 2] gullolt),

D
A » 1 ALt ol ZALE 201X| =Lt 2 oy + BS4E S LIERS
I{oll= 2AHE 20[X| 4=Ct. 3 The police= BE< $a|§ LIEHLHO| SHAH
S5 FES 4 SFEAIRI a2t ARZAR2 HO| & 2 YUSBE Ta(n)

EAt+ AL+ of + ARHBALZ MOF BiCE

Ml

+
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siat > 1 UHz 114 A2ztel] 41S Bi9le 2 7135 ek ziche
Sl a3t o el =X ol 3 A%e] 1 AEAAS =
AFSIEL oIk, 4 Pare: vpe] @afEl AFole,

E

1A » 1 I'm not sure + that®: ‘~2 5*._@ ICF 2 | can't say with

certainly: ‘IS b0 aksl 4~ girt 3 It is doubtful + if/whether&: ‘~QIX|
OP=IX| OJMAZLCE 4 | doubt (that) =: ‘~0| O|AMAHLCY

F

SHA » 1 AL+ HHRHAL+ SETALE MO, B BAE M2 2T =
AR0ll= THRIHAIE AX|SH] 2L} 2 a pair of sunglasses: MZ2tA &t
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Q: skl % Aol Fatel el WS
UNIT 42 e AT U sho] o o Jhel fixjol=e] et

r ~
' A 1 much 2 Koreans !
3 experience 4 many

B 1 How much salt shall | add? EXERCISES
2 How many people are there in your family? , ————— ey
3 How many coins did you insert? ' Atalotof 2 alotof !
4 How much money do you spend a month? 3 a great deal of 4 plenty of

C 1 How much money do you need? B 1 There isn’t much information about the plan.
2 We haven’t had much rain this summer. 2 |t cost a lot/lots of money.
3 How many books have you read? 3 They produce a good deal of the drug.

D » Example answers 4 I've spent a good/great deal of time doing it.

1 How much time do you spend online a day? C 1 She eats a lot of sweets.
i 2 How many websites do you visit a day? i 2 The server is designed to store a huge amount
N e e e e e e e e e e e m - =Y of data.
3 We have plenty of time to catch our train.
A
D » Example answers
St > 1 time2 & - B= BA0IS2 much® 450 BT 2 many A: | have a lot/lots of brothers and sisters.
Of= = 5 U= SARR] S20] 2U0FEITL 3 much= & = 2= BN i B: How many brothers and sisters do you have? i
SABITE 4 manyis 4 4 Qs BAS SASIL e )
A » 1 AIZRO] WA gtk 2 o] whSofl= ghaglo] Wihe?
3 1= A=o] WA Yt 4 Donnae G54 Wol 24l SIA A
e, B4 > 1 2 lot of me A 4 QU= BAIR} Al 4 QL= BAIS BT SAJE
& UACL time2 & = gl= BAOIEE many2| £AIS 22 4 QlCh
B 2 vegetable2 4 4 Ql= HAIO|ZE muche] $AIS B & gt 3 a
1A » muchs Al & Q= HALS $AIGIT many= All 4 Ql= TAIE 4 great deal of ime2 & 4= 9= AN 418 2 QIO time2 A £ Sl=
AlSICE 1 salte M 4~ gle SEYAOICE 2 people Al & U= HALO| TAIO|ZE manyQ| $AlS B2 4 QICE 4 plenty ofi= Al 4~ U= HALR}
Ch. 3coin2 4 & U= FAMOICE 4 money= A £ Gl= BEIFALOICE A o GlE BAE 2F S £ QUi ars A 4 SlE HAIE2 many
o Alg Hig 4 Qlrk
a1 2gs o= Ak W27he? 2 Y3l 7FE2 9 oy?
3 FAE dub YU? 4 vE gt gol =& v A4 Al » 1 2= AIRbe] BA] gth 2 2 AR B oS
gt} 3 1 Y2 R Algtol AReh 4 v A 371 W
C o] mAl= Al & Aok
& » 1 money= & 4 Sl= FAIO|E2 muchZ $AISITE 2 rain2 A&
4 Q= BAIO|ZE much2 4ABICH 3 book 4 4 = @olzz | B
many2 4B bookE H4&2l books2 AOF St si& » 1 information2 A 4 gl= HAIO|ZZ a lot of2} ZH2 21 muchZ
SAjEH 4 9Tk 2a ot of, lots ofi= 4 4 Qs TARL A 4 gl BAE
D DE A3 4 U 3 a good deal ofis M 4 S BAIDH S48 4 9
A > 1 time Al 4 Sl= TAIO|D 2 muchet Bl ALt 2 websitels Al CE 4 a good deal of, a great deal of= Al = Gli= HAIZH £AISH 4 QT
&= U= HAO|ZZ many2t 7| 2L

siA > 1 T Aol s AE7F BA gtk 2 AL AR g

A > 1 Q1 2aRelAloll A 2o © A|7He HulAlY7t? ol S 8 Ae2 A B o oS At
A U= eafolarollA] oF = A7 Aw2 Anghch 4 vh= T AL sk ) obF g2 ARES AR
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C

SH4 » 1 alot ofs A 4~ QU Al
C}. 2 an amount of= A 4 Ql= HARDE
(=]
o
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20l DAL} Al A Ol

A O]
T TEE T M
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=

Algh 4 It 3 plenty of= A
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U1  EXERCISES

Vg N\
H A 1few 2 little 3 little 4 Several |

B 1 Few people came to the meeting.
2 There’s little hope of a rescue.
3 There’s a little meat left from dinner.

C 1 Most employees come on time, but a few are
always late.
2 He gets little pay for the work (that) he does.
3 Few people registered for the course, so it was
canceled.

D » Example answers
1 There are a few boys at the table.
2 There are few girls at the table.

i 3 There are several cellphones on the table. i
\ J
A

A » 1 thingse A & Uz FAOIZZ few?] pAS BE 2 QUCh
2 jitle2 A & Q= BAIE SAIBICE 3 traffic2 A 4 gl JAIE2R
little2] fAlg HBhg 4 QUCh 4 2ojdt 'H Ho| AIZY0| E[ofof stE=E
several0| YSICt
M » 1 U oo EAES ot 4 Aotk 2 S
FAE Apekol oFxk Sl 1 L

% Halok 3ttt 3 mie
o] ohjet & He| ARl 1 AlE BAYC,

s » 1 fews “~0] 72| @l="9| K0|Ch 2 litle= ~0| 72| =2l 0]
Ch 3 a litle "2f2tol'Q| ZE0|Ct,

a4l » 1 71 mglol AkgrEel A9 9.4 peleh 2 TEE Bl
719] giek. 8 Ade] Be 1717} ok ke
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C

1A » 1 afew: Fof 4 o
S LIEFHCE 2 little: A 4~ Q= HALS
o= &

FABH 719 N0| 31'.: 9| EOIEh
3 few= ‘72| ~0] g1 2

o

oH > 1 Aol 2 X a fewE AIESI0 E2ES 20 2
Fol22 7ol ~0] Yl=2 K2 Al fewS AT 4= ACL 3 'OfHYf

o M
LS LIEHHE several2 ARSI cellphonesE $AISH 4= QICH

|'0I‘

[e]

LLILWTY  EXERCISES

I'd \
H A 1some 2.can 3 Some 4 any I
B

1 | haven’t had any emails today.

2 Would you like some dessert?

3 Any girl would like him.

4 There is no difference between the twins.

C 1 She hasn’t eaten any salad.
2 Some guy called while you were out.
3 The fox could eat no grapes.
4 Any color will do.

D » Example answers
1 | have some textbooks in my locker.

” 2 There are no reference books in my locker. i
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HA1All

2 hoth 3 is
B 1 | could hear all (of) the words she said.
2 She’s wearing gloves on both (her) hands.
3 He knows all the people in the school.
4 Every student in the school has to take the

TOEIC.

C 1 Each of them costs 10 cents.
2 All the people (that) | invited are coming.
3 She put both (her) feet in the stream.

D » Example answers
1 She has bracelets on both wrists.

2 She’s wearing rings on every finger. i

et bt
3 Tevery + HEHAL= H4 FFTICL
A

S » 1 2LHAR! my friends7t Y222 AlIO| UL 2 every= Hg

SAR S A= bothJt YSCH

4 cach= AR 274 A0|H T

a4 > 1 W A7Ee] BE 23] itk 2 F g ol
8 shshvt hact 4 AR 4248 304%eloltt

B

SHA » 1 every?t all & Cf ‘25| S£0[C} everye THeEARRE SA A

all2

|_

S EE E4FAIRE MQI0) 2 & 2 £ H0|22 E OFE K5t

both2 HHY £ 4= UCt 3 every®t all E Cf ‘252| 520]Cf, every= T

SHARL B A0 all2 HEA £ SaEARL MOICE 4 every Foll=

S

BALS 20k

» 1 U 297F Beke BE Al 5 e 0t 2 1de
ZFe 7|3 Qitk 3 1= o] Skl Q= HE AFERS o

ot 4 o] Sho) BE SHEE o] Aale] SAlsjof dtt

4 is |

C
A » 1 Teach of + E+FHAL= B FFSICE 2 al2
upat SAke| £5 AX|AZICE 3 ‘g Cf, 'Y B 2FO|E

E5l0 220t

Foll 2= Aol
SSot= bothE At
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! A 1 hate 2 book 3 is 4 none !

B 1 Trees stood on both sides of the road.
2 None of the members is/are female.
3 I can accept neither of them.
4 Both options are good enough.

C 1 Neither of us knew how to treat him.
2 I’ll take coffee or tea; either is fine.
3 None of the ten players was/were chosen MVP.

D » Example answers
1 None of the puppies is/are black.

” 2 Neither of the twins has/have long hair. i
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''A1far 2long 3 case |

4 Considering  5in

B 1 inthat case
2 in so far as | know

C 1 Considering his personality
2 in so far as we don’t hear any bad news
3 in this case we’ll make an exception

D 1 We must save electricity in case of power
outages.
2 We must publish a comprehensive Korean

i dictionary in case the two Koreas are reunited. |
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4 Every 5 Few

B 1 | have a few.
2 | don’t have many.
3 I don’t have any.
4 | don’t have much.
5 | have little.

C 1 How many students are there in your class?
2 Very few people can afford to pay those prices.
3 I need to get a few things in the supermarket.
4 How much salt shall I put in the soup?
5 Would you like some more cake?

D 1 few — little
2 much — many
3 wears — wear
4 lot — lot of

E 1 |can come as long as | can leave before 3.
2 Take a map in case you get lost.
3 In that case, | will keep it until tomorrow.
4 This issue matters in so far as it affects me.



F » Example answers
1 Each participant wears his or her name tag.
2 Both (of) his eyes are bloodshot.
3 Neither of the shoes fit(s) her.

{ 4 None of the boys is/are awake. i
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UNIT 49 EXERCISES
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! A10ne 21t 3 one 4 one |

B 1 I’d like one, too.
2 | want a yellow one.
3 It’s in the garage.

C 1 That’s one possible answer, but not the only
one.
2 | saw a cat. It was going up the tree.
3 Neo was called ‘the Chosen One.’

D » Example answers
1 Ared cap looks better on me than a black one.

i 2 | prefer red chili peppers to green ones. i
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2 the other |
4 another

A 1 another
3 others

B 1 Yes, but others are better.
2 No, the other hurts.
3 No, on the other.

C 1 His mom is expecting another baby in October.
2 |’ve found one of my shoes, and I’m looking for
the other.
3 Some methods will work, but others won’t.

D » Example answers
1 Some of the candies are round, and the others
are cubes.
2 Two of them are smart phones, and the other is

a 2G phone. i
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B 1 It’s so hot.

2 |t’s September 12.
3 It’s Wednesday.

C 1 It’simpossible to get there in time.
2 |t seems that she is hiding something.
3 I find it strange that he doesn’t want to go.

D » Example answers
1 c. It’s windy.
2 b. It’s a quarter to three. / It’s two forty-five.
” 3 a. It’s 100 kilometers @way).
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HA15he 2us 3 him 4 him !

B 1 He has a big dog.
2 | won’t forget them.
3 There they are on the table.
4 Who did you give it to?

C 1 If you help me, I’ll help you too.
2 He forgot his wife’s birthday, but she forgave
him.
3 The Harley family lives near us.
D 1 Who(m)do you admire? A:(l admire) Abraham

Lincoln.
i 2 Who is responsible for the failure? A:It’s me. i
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| A 1 john’s 2 Her 3 her 4 yours I

B 1 | need Sam’s help.
2 The money is not my parents’.
3 These books are Sean’s.
4 He writes children’s books.

C 1 The dog wagged its tail.
2 He left his wallet on the bus.
3 That umbrella is not mine.

D 1 Thatis my computer.
” 2 That puppy is not mine.
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H A 1 Something 2 was 3 somebody 4 is I

B 1 | have eaten nothing today.
2 We are not getting anywhere.
3 Don’t speak to anyone.
4 Only you can do this.

C 1 He thinks (that) he’s somebody.
2 | would give anything to be beautiful.
3 Nothing but a miracle can save him.

D 1 | have nobody to compete with.

i 2 | have something to relieve stress. J
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UNIT 55 EXERCISES
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| A 1this 2 that 3 these 4 Thisis !

B 1 Peter, this is Jim.
2 The traffic in Seoul is heavier than that in
Busan.
3 This is Rick. / he speaking.
4 The salaries are higher here than those in my
country.

C 1 Those are nice, but | like these better.
2 | bought these shoes in Italy.
3 There are those who dislike her.

D 1 There were no cellphones in those days.
2 These days cellphones are used for navigation

” as well. i
\ J
A

M= thisE &Ct 2 H|wX

ailE » 1 ATHE SLE TRl ME2S 8E
FE0ER 5

HE| U= AEL2 thate 2 2t 3 friends? 43401 these2
MAT AlGHOF SiCt 4 HshatollM A2S 818! M= thisS 2Ct

siA1 » 1 Max, ©] 2= Kenolof Ken, ©] X9t Maxof 2 A



Zo| A4 @787 38 Tim, o A2 W TS0k 4 Ae
Neilol2}al s 2., Zacky} Sk 4= A27k87?

B

s » 1 AZS AJHE W= this2 2201 2 Z2 BAIE HSsiX| 27|
alf thatS 2Lk that2 trafficS CHABICE 3 TehdolM AMES e Te
thisE AtEelitt. 4 Z2 JAE H=5HK| 27| flall thats 2Lk

&= APE=40|H thoseZ Bh=C.

a4 1 Peter, JimolA) QAFS], — Peter, o] F-& Jimoletar &,
2 A£9] wEeke Halo] mEakHc) wr)
3 A: Rick®} E3)8t 4= 9)27192?
B: W&akA 2. A7t RickJUct,
4 oj3ze] sto] o] x3te] AFurt &,

(@]

SHAd
59

1 22| U= AE2 that, 71710] Us AFE2 this2 £LF that| &
0se0|11 thisQ| 24312 theseO|Ct. 0|22 this2]
= ‘~Bt AFEQ| £20]

ol

>
2 2 shoes7t 24
34

o

th
2l theseZ shoes

HA EA}

=
o
A
o
= 3ol = S

2 -|>

2AISICE 3 those whoe

=

D

& » XIZECH H IPAE those daysZ M1, SIXiet 77t QES these
daysZ £2LC} thoselt these7t 20|22 day0f| -sE £0[= 0| Kalstct

(

' A 1 himself 2 yourself 3 by 4 itself !

B 1 | have cut myself while shaving.
2 She looked at herself in the photo.
3 Gogh painted himself many times.
4 He hurt himself while playing soccer.

C 1 Sometimes give yourself a present.
2 People love themselves more than anybody
else.
3 Make yourself at home.

D 1 | pay myself compliments.
I 2 | console myself when I’m in trouble. I
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"'A 1each 2 other 3 every 4 one !

B 1 He and | hate each other.

2 She and | argued with each other.

3 They are winning one game after another.

4 The market is held every other month.

C 1 The kittens chased each other.
2 One after another of her friends got married.
3 The shop is closed every other Sunday.
D » Example answers
1 The man and the woman are (sitting) facing each
other.
i 2 She goes to work every other day. i
| J

A » 1 ‘MZ'Q| 50| Z|0{oF 322 each otherZt XL 2 each otheres
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‘MZ'9| Seolct, 3 2FYof st #'9| £20| Z|2{H every otherE MOF STt
4 one after another= “HE0F, *210|0{'| £=0]Ct,

a4 > 1 1 AR ARE ARG 2 252 MR 248
2 At 3 O 27t & W dedo] wajof Zteh 4 oY
o] ol =2t

B

S » 1 MEE 20{5HF| 20| |2 each other2 MOF BHCL 2 'ME
CIHECFO| 520| E|2fH each other2 MOF S 3 “M=HoF, “™10|0f'= one
after another2 £2Ct. 4 A, AF A& S2 Tevery other + AZIHALE

2o

4 > 1 29 s ARE So3tth 2 It U= AR dts

ol

2 ek 8 aEL dgol AL olzith 4 1 gL T it
3 w1 ek
C

ol

4 » 1 ‘MZ'E S£5H= each otherS ARSI 2L} 2 one after another
‘HEof, ‘Holofe| SLolct 3 ‘AT URY'E every other SundayE #

rr

ot

D

SiA » 1 5 ARZIO| M2 0FEE D Q222 each other2 AFR5HK
(o]

o 2
SIMSICE 2 OfXH= HAUR ES261T Q22 Z every other day2 AFRSHH

gll=
=
v
ot
X
®
2
x
rie
>
Ll
It
i)
N
4
i)
52
)
o
£
N
¥
=
rlr
N

e —— N\
''A1in 2 Finally 3after !
4in 5 least
B 1afterall 2 Finally

C 1 The end of the world did not come after all.
2 Last but not least, | love you.
3 In conclusion, I’d like to thank everyone who
made this possible.

D 1 In conclusion, we can say that Korea is a
developed country.
2 Last but not least, North Korea invaded South

i Korea in 1950. i
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A

il » 1 in conclusion: ZE2XCZ 2 finally: OFX[2tS 2 OFRILY 3 after all:
Of7ALt 4 all in all: CHXIH 22 5 last but not least: OIX[ZC 2 & T2

sa > 1 AEHOE T o2& hssith 2 Al 7K FA| Fef
A AL NS EERE opuo 2 npur FAo) o)
WRCASUL, 3 AT S A REE 22 ol
4 QAo E IR T8 A gk 5 upAuro 2 Becy
A, AUE GAkEE T AR,

B
A » 1 anyway= ‘LY S| SO 2 after allnt 242 S20|C} HISH 22

L anyhow?}t QIC} 2 lastly= ‘OFX[2tO 2’| EEO 2 finallyQt 22 ZE0|Ct,

2

Al » 1 AL S| ARlsk U
B: Waol, ojzkm] W Uk
2 A: BHAIL Ae W

B:

A o

o)

o & ¥
% g 59
(o]

o,
=

=
R}
?5
it
)
o
JII‘
ofr
o
Rl
e &
ol

N
B3
[
i)
°
o

C

34 » 1 after all: 0L, Z= 3 in conclusion: Z2Ho 2

D

SilA » 1 in conclusion: Z2XOZ 2 last but not least: OIX[2fC 2 & 2f

=2
[

TEST 7 UNIT 49~58

I N
I A 1 something funny 2 one 3 his I
4 the other 5 yourself

B 1 I'd like to meet someone friendly.
2 [|t’s nice to be home again.
3 The old lady sat on the bench by herself.
4 | make it a rule to learn twenty English words a
day.

C 1 Jack and Jill kissed each other passionately.
2 | blame myself for what happened.
3 They hurt each other with bad words.
4 Don’t make a fool of yourself.

D 1 hard —it hard
2 others — other
30



4 other — the others M 1 Jackdt Jill2 @A 02 ARof|A 7|AFCE 2 U= Ho
e‘ of thafl u A4S HdEiTh 3 152 A WE ARoA
BAE FACE 4 Y AAlo] AR EA| shA| meEf (v o]
=2 vkz})

rN

E 1 Maybe she was right after all.
2 Last but not least, | want to thank my mother
for her help.
3 In conclusion, we must go on with this plan. D

4 Allin all it was a good vacation. .
S » 1 TFEO to takk to herg = 7H=A0 it2 MOF SITE 2 each

F » Example answers others A2'0] o[tk 3 ‘4 XHAIS Ba| sil2t 5 Bk Rloaks 20|
1 Two of my classmates wear earrings. The others 22 IHHHBAL yourselfE & A2 2Ch 4 ‘UK BFE Kol the
don’t. others2 AOF Btct,
2 Some of my classmates have long hair. Others
have short hair. A » 1 U= T1HQ)E oJoprlsks Al ofgith= A gt 2 F
3 Some of my classmates have smart phones. A2 MRS Bk 3 Aol okt el AN, 4 &
Others have 2G phones. And the others have no el A sh watth ohE S A o o el
cellphones.
4 Some of my classmates wear used school E
H uniform. The others wear new uniform. i 3HAd » 1 after all: 2= 2 last but not least: OFX|2fS2, SHX|2F HHHO| A
\ J = ot = 595t Y 3in conclusion: ZEXCZ 4 allin all: LMHS 2
F
A SHA » 1 Chr B UBEE somelE M1, LIHX| BEE the othersZ 2L},
a4 > 1 thingS 2 BLIE Hloj= S8APE FlOIM SABICE 222 B3R | 2044 5 YR someO® M1, LIBK| 5 IS othersS &t F 20|
ol S AFZS UEE = oneS &0 3 heol AR his7h ST Cf Hot USS 20j3ict 3 Ch & YRE some2 2 M1, LIHX| & 2
he's= he is2| ZHLO|CL. 4 S & slLh= ‘one, LIMX| stz ‘the other’ 2 others2 MO, OFX[E} LIHX[S the others® 2L} 4 Ci = Qg
2 £} 5 help yourself= ‘037 - Y74 EM Q9| S=0]Ct, someQ 2 M1 LIHX| BF= the others2 2L},
atfad » 1 ol A ®7F Amidle 2 wel H. 2 @ B2 Y A A » 1 BHF ATLE 2 F e AugE Pk Uer R
zkol. U= sht det? 3 Tom 19} Feddehs Aol £ % | w25 slx] Yol 2 3 ATE F YR E vt A, e
tf 4 YolAl= Fol F 1 Qo g W& A} oake|ar YA ARLEe gy 3 8hE ALE = AR Anje 9 74y )
2 & GhAFHolel 5 o] HalY] & EARAL, 02 ATLEL 26 £ 7 9o}t 183 YA ATFEL S
At ok 4 3 AFE F 98 e T2 15E etk vH
B A 2 A 28-S etk
34 » 1 -hing, -one22 BLI= BIAHE BEAPH S0l AlBKCL 2 7}
02l itg 250 =1, TIF0Q! toFH PE Flofl 2k 3 by oneselfi=
‘EXF, EXL @ez'9| Ro|oh 4 X7 2 E2 75N itS 41 FHoil
ZIZH0| o HALS 2Lt EXERCISES
s \
aiM » 1 U TP FoHE YAl Aty 2 Fof) thA] 9| F] ! A 1bigone 2 asad !
o] Frh 3 o] EAI EHUAIA “‘ii]ﬂl A} grolA At 4 8t 3 that pretty 4 tall and strong
£ Skl Fol To] 207 &%= AS AR A gtk
B 1 The woman is happy.
C 2 The book is difficult.
siA » 1 ‘ME'E S£3H= each other2 AFR5I0] 20} 2 blame2| 2% 3 The catiis cute.
= = =7e 4 The box is heavy.
74T XRAO|I2 2 RHACHEAL myselfS 2Lt 3 ‘MZ'E 556+= each other
£ A3t #0t 4 FHEQ F0olE youl|2Z2 I AAZO| £0QI C 1 Sheis a friendly young lady.
yourselfZ #ct, 2 The movie was long and boring.
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3 | feel blue today.
4 Tennis is my favorite sport.

D 1 Good ideal = Your idea is good!
2 Nice dress| = Your dress is nicel

i 3 Good question. = Your question is good. i
| J
A

SilE » 1 ones +AGHE FEAt big0| HA| Lietof BTt 2 TBFIAL+&E
Al &2 201 3 TRFEAN+ ¥8AL &2 2 20t 4 2] JHe| YEAWt
SALFOIM M 82z XU moll= AL AOI0f] andE 22t

siA > 1 U 2 o] "asith 2 aRe

Ae &2 wdfoltt 3 A
o 2t U2 4 Sam 77k =3 ol Al

B

s » P 8oz MO HEAME M 8oz 2ot 1 =S oXt —

SHA » 1 O JHS| SEATL St BAIE AR = AL ALO|0f and
£ MX| 40t 2 o] JHe| EEAL SAL FoIM ME 8HoZ MU mf=
AL A0l andS &L} 3 Teel + H8AL= ‘~aHA| LaICF, ‘~&t 7[20]

CHol SKolch 4 SPYAL myE S8At favorite@] 40f| L0t
D
B4 > 3P SE0| HEAIE TAF YOIN BAE SAlGHD, M2 SHol
SAHE BAte] MEHS LEEHHCE

UNIT 60 EXERCISES
o N\
' A 1looked 2 soft 3 happy 4 theboxblack !

B 1 He turned red with anger.
2 |et’s paint the fence white.
3 That seems best to me.
4 | find his attitude strange.

C 1That kid looks cheerful.
2 This kimchi tastes sour.
3 He cut my hair short.
4 He seems (like) a successful businessman.

D 1 This persimmon tastes bitter.
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i 2 This book smells like mold. |

314 » 1 looked at Flof= FAPF 240 =t pale2 EEAOIZZ
looked7} LSITE Mook + &2AhE ‘~all 20|CFe| S20|ct 2 the clothS
25 MBS £ 207} 20F BTt 3 meo] SEZHO} 2fof Bk
HOjZE RAPE 2 4 Ok 4 1F0]+ SAH+ 20| + 252H0{,0 20
2 ot

sl » 1 = el Hodrh 2 1 HS FEER = .
3 19| mae UE 5K Aok 4 = 2 dHE A 23
o

B

B4 > 1 TZ0{+ SAb+ FZE0|,0 2O Mrh 2 NLefs+ SA+ 2
Of + 2X2{HI0{ 0] 2O Mrt 3 IFO0|+SAH+ F2H0{,0| 2O2 M,
47701 + SAL+ 2H0| + 2RO} 0] 202 #L}

sia1 > 1 2 Sk L Qo] Wzl wEh 2 B2 dow
Ask4, 3 27le] el H419l A Atk 4 L 19 HE} of
AbstekaL A7k

C

A » 1 Mook + &AL ~alf 20|Ct 2 Ttaste + EEAt: ~
3 fcut + 20 + short: ~2 &7 KI2CH 4 Tseem + like + BAF TZHEH
o ~XE Ho|ct

D

S » 1 ftaste + EZAL: ~&t Sko| LICH 2 Tsmell + like + HAF FZE0
~ZHS WA} Lot

O —— \
''A 1 alive !
2 somewhere warm
3 sleeping

4 anything special

B 1 I’'m not feeling well.
2 |s your father still alive?
3 | felt something odd.
4 Would you like something cold to drink?

C 1 There’s something wrong with the TV.



2 Let sleeping dogs lie.
3 Heis a living legend.
4 While watching TV, she fell asleep.

D 1 | want to go somewhere crowded.

i 2 | want to go somewhere mild. i
\ J
A

S > 1 lives SHFY SHOZ FAIE YoM $ABIER A& R alive
7t QLoF Bt 2 ‘some-C& =l HAK= AL F0IA = @cr eS|
SHOE M0 the beautyE Al F= sleeping0| 210F STt 4 ‘any-'2

Al
Al

H BALE AL FOIM AT

I'

sial > 1 B2 AeE RAslEE 2 U ofdrl wER Fow
P4 Ak 3 e BE vldelA 7143 4 9 SEd A
quka?

B

s » 1 ME 82 Z M0 FHL0Q| Hets BTl 2 dives= ME &Y
o220k MoIck 3 ‘some-22 E HA= FADL FoIM SABIL 4
‘some-22 E HAh= A FlolM AR

4 > 1 L 7ol 24) ghth 2 obulAA ofds] Aok A
U2 3 Bels} olere LA 4Aphe A ohuea?

C

S » 1 'some-S2 E YAtz FEADt FollA fAlSICE 2 Y
2 M0 dogE $Al5H= sleeping® 0|2510] £t 3 living2 5t
2 HALS| A0M HAIZS SAISICE 4 asleep2 Mz ¥ 2 M0 she?
FZH0| A& Sict

D

SHA » ‘some-22 E Atz AL FHOIM fASICE 1 somewhere

crowded: O{EI7} 2H|= 2 2 somewhere mild: ZM7t 2316t =

UNIT 62 EXERCISES
T T \
A tolder 2tall 3old 4 tall I

B 1 How old is your sister?
2 How heavy is the parcel?
3 How high is that hill?
4 How deep is the lake?

C 1 Sheis the eldest daughter in the family.
2 How long is the ruler?
3 The book is on the high shelf.

D 1 A:He’s pretty short.
B: How tall is he?
2 A: This pond is shallow.

i B: How deep is the pond? i
\ J/
A

sil& » 1 ‘Lol B2'9| 0|7} =|0{0F S22 older/t YHCE 2 0|, =
0|, Lol, 27 52 E=E =2 = 2 &2l YBAE 018310 E=Ct. 3
L0IE 21 UA2EZ youngllt old & 2 Z2| FEAR! oldE 0185t 2

=Ch 4717t 22 Re2E= FEAHtalS ALSEITh

314 » 1 Jackie= YR}t Yo7} @l 2 HE 7[7F Holy?
34 2 @ AU 4 1 ol 7] 2 2ui5o] wo] girk

siE » 1 LI0|E S5 W= oldE AM83I 2=t 2 FAE 2 T
heavyE AtZ5I0d =Lt 3 =0|E £2 W= highE M85t 2=Ct 4

ZI0|E 22 M= deepS AESIH 2Lt

atial » 1 99| Ay R Aoy? 2 o] 2229 A= dufut Hub
27 3 A <dgo] ol duft HY? 4 0] Tk duht ZY?

C

SHA » 1 ~HECH & QOIS HESE I elderS AMSSiCt EAZ2 eldest
2201 2 Z2ole] HEE 2= 8t longS AF8sto 278 #C01 3=
28 LE= 8At highE M85t 228 £Ct

o

s » 1 short: X2 B2 2 shallow: Y2 3 Z0|E S U= HEA

deep= AFESLCE

I\IXSW EXERCISES

’ N\
! A 1 The 2 the 3 former 4 was !

B 1 Jack is the strongest in the class.
2 We’ll have three big burgers and one small.
3 Why don’t we help the poor?
4 The accused was found guilty.
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C 1 | eat both fish and meat, but | prefer the former.
2 The rich pay a lot of tax.
3 Wash the colors and the whites separately.

D 1 Both (the) old and (the) young fear death.
2 He will judge the living and the dead.

A
SHA » 1 the + EEALE O AR HEE 71Xl 84 TAIE LIEHHCL
2 the + 2| F AL 71 ~8t ALZHA ]% LIEFAHCE 3 the formere=
TIXfel RO B HAlst= FAL g0 O XIMIE BA| IS SiCh 4 the

o XOR Aot FAF Q0| I XHIE HAR|

i)
re

St
=

accusede ‘I|TT
Ch.

siA » 1 7Rl AFtEo] AX= ofyr) 2 Charlie= ghalo) A
7 w2 Aoty 8 AL SAkET oyl 4 mjils 23
wAE Wl

B
B4 > 1 SMF BRAVHSASHE TADL 22y 2
SP7I= BTk Ol fthe + ANT FBALE 7K ~3t
of A burger7}t HFEIACDR, CHA| AFE O
3 the + BEALE 1

BEHO2 ‘Moo £ Kk

[ foll= d=F 7ts3tct.
O YEMe gEE X =5 ZAIE UEHHT 4 the

accused=

A1 » 1 JackS Hho|A] 7} Blo] Al SAFo|th. 2 2 Afo]= A
Al et 22 A shts He7la. 8 7hdst AlteE w7 o
7 4 73Rl fFH9de] eyl

C
SHA » 1 the former= ‘TIXFL| S20ICE 2 Tthe + E8ALE HEAR] HES
Aol E4HAS LIEHYZ|= Sict 3 224 colors= colored clothes0 |11

whites= white clothesO|C},

D

B4 > 1 TEBAb+and + HBALE LIRS B2 theS M2FE 4= ik
AH
o

2 BUY LA WS HpL EHE 3 IAE

To= o1, o —Fg —)lk— CZJE}. the Iiving%

living people, the dead= dead people?| S=0|C},

UIIW  EXERCISES

e N\
' A10n 2 contrast 3 hand !
4 Contrary 5 contrast
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B 1 by contrast
2 one hand / the other hand

C 1 Contrary to his prediction
2 |n contrast to/with his predecessor
3 in contrast to/with his life as a businessman

D 1 Onthe one hand people hate boredom. On the
other hand people fear change.
2 On the one hand, the Korean writing system is
easy to learn, but on the other, spoken Korean
i is difficult to learn. i

B —

A

514 » 1 on the contrary: J2{7 =74, J2{7|= TAISIZ 2 in contrast
to: ~2f X=X Z 3 on the one hand ~, on the other hand ~: SHHO
= ~3h HiH C12 SHHo2E |5t 4 contrary to: ~@tE 22| 5 by

contrast: LHEE 2 2 (= in contrast)
s> 1.3 24 Skl el ST 2Aetelgtt 27

oA BN T HROEE AUSLLE Sicl, 4 S5 5
‘—:1311—1_—1 D‘-a Z‘LQ

ARl tAEe] AR ok 5 Aol
H7} o] Stk AR ol Selli= 7Hzo] itk

54 » 1 by contrast: CHZ=HOZ
SHHO 2= ~5l1 L2 SHHo 2= | St

—

= in contrast) 2 on the one hand ~,
on the other hand ...:

1A » 1 ~Q IZHOZ: contrary to 2 ~2F CHE:
to[with] 8 ~2} CHEX S 2: in contrast to[with]

XOZ: in contrast

D
S » O CHAe| BiHEl= & 7HX| SHE thEE of A= ZO|Ch on the
one hand ~, on the other hand ... $fHOZE= ~5l1 CI2 SHHO 2=

iy



TEST 8 UNIT 59~64

% N
I 3 awake 1

A 1 tall
4 asleep

2 alive
5 elder

B 1 The accused was found innocent.
2 This coffee tastes like dishwater.
3 | tried to keep him awake.
4 | need to do something thrilling.
5 Your job sounds really interesting.

C 1| chose the latter.
2 Billy is the tallest in the school.
3 The deceased were killed in a train crash.
4 You can’t make the deaf hear you.
5 How heavy is the parcel?

D 1 hot something — something hot
2 live — alive
3 strangely — strange
4 nervously — nervous
50

E 1 Onthe one hand | want a job that pays more.
2 On the other hand, | enjoy the work I’m doing at
the moment.
3 I didn’t find the movie exciting. On the contrary,
| fell asleep halfway through it.
4 The amount spent on defense is in sharp
contrast to that spent on health.

F » Example answers
1 are different
2 is not like / unlike

H 3 are alike i
\ J
A

sid » 1 7|12 22 e talg AFSs5H 2= 717t ZE2kE ‘How short

~E 2X| 20| ROBICE 2 Ald BHOE MO} F2H0f A St
St asleep0| 20 Bit. 5 A 9I0IS SE5H= elder?} LT
3 EFASE A7E HolU? 2 Ik e AEwoleA

A AL QIE, 8 Molly7h A Slofgtl? 4 wlagt o]
AE9Th 5 Katels o] Qluolth, T Lol w4 itk

B

514 » 1 the accused= ‘O|TQIQ| =20|C}, 2 tastes= TZEOE YEAL
FIGIXIZE HAIS F[E w= Yol ikeS Mo StCt 3 Tkeep + SH0| + 5N
AH0{,2| 292 20t 4 'some-2E E HA= BEATt FOIA fASITY
5 "30{ + sound + FHE0{,2] O = £L}

i

sia > 1 7 Tk 22 Bt 2 o] Av: THE uol
dth 8 U a2 A% ASes w4 s W 2
A 7o) Basieh 5 U] Aghe A Aol Sk

C

s » 1 HIZE XN B F UM A F, F 4 5 LB d2E AS St
‘SAFE ESHE the latterS AFESICE 2 22U £AIS gh= HAPL 26t
AR0l= FAE M |x Stot 3 fthe + @8Abe ~8t AlY'S SSEiCH
the deceased= ‘12I'9| SLOIC}. 4 the + EAL= FEAR| HEE x|
24 HAIS LIEHWY = St 6 2AE 82 e heavyE AISSIH 2=

ch.

sia1 > 1 Whz Aol AFE A 5 5 WA A Ay,
Billy's Awmelq 744 7|7 2 shajolch 3 e

£ AR Bopby, 4 vk 24 Rolk 4RSS 24 @
Qe 50 2= FAE duht Yrhha?

D

ali& » 1 'some-C2 & FA= AP} FolA SABIE 2 HE 8¥e
2 M0f XA H0jo| A h= alveR X0} BICE. 3 HOZE= F&A
7t 20 BAE MAX| YER FOfSHOF oLt 4 HOIZE AT 20 FA
£ MAX| =5 Folohof Btk 5 & IS Kot FEAIY elderrt HA

tCt.

t
t

ol

aHiad » 1 U whSeRt 9 Zlo] Zasit 2 1 7S AEE 4
we? 3 19 AW okl Xtk 4 12 AEe uE St
A HEAk 5 A @R U] B Jimmyoltk,

E

SH& » 1 on the other hand: 82 2= 2 on the other hand: CIE HH
o2& 3 on the contrary: J12{7|=7{E, 12{7|= 1AIStZ 4 in contrast
tolwith]: ~2} ixXo =z

F

54 » 1 "be different from;: ~2}= CtE / each other: A2 2 not like: ~
QF ZX| 22 (= unlike) 3 alike: ~2F 22

a4 > 1 Fo) 3t ASH B A2 chEdh 2 A AES B AED

2A 9tk (= A AES B ABI chEch) 8 Fo) sk Agk
Hlgeate
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IIXTW  EXERCISES

N\
| A 1 socute 2 happily 3 verywell

Bic 2d 3b 4a

C 1| left home early in the morning.
2 Fortunately, | found my passport.
3 Unfortunately, | won’t be able to go to the
wedding.
4 And they lived happily ever after.

D » Example answers
1 | go to school early.

2 | eat slowly.

3 I sing badly.
\ J
A
SHA » 1 HBAIE Al RAPE FEAL YOl 240k STt 2 SAIE 4
Sh= 2ARR! happilyZt 210k BCL 3 At very SHLIDIC 2= 2XH0| OfA5H
zl

Ch veryQ| £A12 Bh= wello] Z0| LiQtOF BiTh 4 THX|AH+ HAbhes 2

a4 » 1 = A F|Ge 2 HY ofo]5o] oA RS =
Yk 3 2y vokeE A A Zoh 4 I vg7]= 849

0z
=}
é
_lT‘_
sl
il
N

siE » 1 2o FAHIM X ACH7E HMESiC 2 29
HHsich. 3 By W2l SZ0|X| of7t MEsict 4 2

SICE7t 2Estt,

atfad » 1 21 of7l= Aol AaL Qleh 2 W o]ii= ofA] tE

£ ot 8 U we) $Xolx) vleh 4 U AL gl
olafjgttt,

C

A » 1 SAIE SA5H= 2At early FlOIl "HXIAL+ HAL SARL7} LIQOF
st 2 2% MAHIE £AI5HE BAL fortunatelyZ7t 2501 LEQIOF XFHAZ
Ct 3 2% HxZE sAlsks BAL unfortunatelyZt 2501 LIQLOF XIHAAH
C}. 4 SAIE $AlGH= 2A} happily S0l LIHX| 2AFS 0|0A] 2L}

D

A » 1 early= SAIE 3
SAIE IS

AlStCt 2 slowly= SAFE $AI5tTt 3 badly=

44 | Answerkey

4atg |

UNIT 66 EXERCISES

N\
| A 1late 2 easily 3 well 4 inasillyway !

B 1 He talks well.
2 Mr. Jones smokes heavily.
3 My father cooks well.
4 Joan writes well.

C 1 The cat walked slowly around the house.
2 The girl smiled in a lovely way.
3 She doesn’t swim well.

D 1 |learn new things quickly.

i 2 | type fast. i
\ J
A

SHA » 1 late= O XIMZ 2AL G2 SICL 2 SAE fAlsHs 2APL
OF SiCt. 3 good EEAIIEZ SAE AR

= wellolct 4 sily= HA0|ZZ2 SAIE £A18 £ ¢t n a+ 8
Ab+way =~ HA o 20| Lot

2

SA > 1 T 23] S AT 2 U 0% IR 4 B
94 gk 8 IuE 2elE 2 st 4 2k AF oledA w
o,
B

talker (H2 Z 5H= AMR) = talk well (X2 & 5lTt) 2a
smoke heavily (EfHiE 0| D|2CH 3 a
good cook (25t Qa|AD = cook well (22| Zt 5ICH 4 a good writer

(EE3t &7} = write well (B2 & MLOh

54 » 1 a good
heavy smoker (Mgt E%7p) =

attAl > 1 e girtoltt = T W 2 gith 2 JonesK=
Zzolt}, = JonesH= FHlE Wol 72t 3 U] ofHAl= &
gk aEjatolet = 1] opsjxl= 2|5 & sh4leh 4 Joan

g A7tolt}, = Joand =& & ¢t

tor ot

C

i » 1 SME ASls slowlyS SAF Fol 20k 2 ‘in a+ ¥E
Ab+way's 1 H&AQ| BALS] SE0ct 3 SALE $AlGHE wellg SAL F
off £ck,

D

1A » 1 quick Fofl -lyE 2
of YEN7t &Lt

EAIRE THECL 2 faste SEAIRE 2AL



UNIT 67 EXERCISES UNIT 68 EXERCISES

- ~ o ~
! A 1 laughed loudly ! ! A 1enough 2 good enough !
2 soccer well 3 too 4 too large
3 neiver helps B 1 He is smart enough to solve the puzzle.
4 will always 2 They are too young to smoke.
B 1 | sometimes go to the beach. 3 Do you have enough money?
2 I’m usually home by 4 o’clock. 4 This is too risky a project.

3 He always arrives at 8.

. C 1 Are you rich enough to retire?
4 | have never been to China.

2 She saw something, and he saw it too.

C 1 She always locks her room. 3 | couldn’t run fast enough to catch up with him.
2 He will never betray his friends. 4 You are too young to watch this movie.
3 Honest words are hardly ever heard.

. D » Example answers
4 You can always leave the party if you get bored.

1 I’'m too young to drink alcohol.

D 1 | often skip breakfast. i 2 I'moldenough to have my own ID. i
i 2 Isometimes study in the school library. I — J
—_ J
A

A » 1 HEAZ MO|= enoughs HAF 20| 20 2 EAIR M0l=

A oo

i enough= A5k FEAHRAN Flofl 2ch 3 LR ~sliAM 2 4 gicke

S 1 9HS LIRS S8AKE il Flofl SIXIBICH 2 SAtet 2xof 0|32 1007} ABILE 4 tools AAIBHE HEAHSAL 20l QIR[BICE
AtOjoll FALS EX| h=Ct. 3 BI=RAts UEESAL 20l RIS 4 B
HAHE ZSAH beSA Flofl IX[BHC, A > 1 Qe AL T FEI A7l )k 2 AR YA &
) 3 oo g 23] ZFoith 3 U= F7Il Ui ofgjth 4 o] HAl= Yo
aiM e 1 1= A Q0 2 = SHEE 5“’/} 3 1= A Yt =k
UE A =k gheth 4 U 3 ek @ )l Alolth
B

B SHA » 1 THEAEAN + enough + o2 ™ALE ‘~517| S235| ..5iCHel &=
A > 1 HIERANE UBHEAF Yol YXIFHCE 2 HIZEAN= beSAL Fol O[Ct. 2 Moo+ FEAMFA] + 02 YAk ‘UF ~aliM .2 4 glcrel K0
QUx[BiCt 3 HIZRANS UBHEA} Qhofl QIX[BICE 4 HIZRAN=S SIRIRLEA th. 3 enough’t YEAIZ M0|H £A5H= FAL ol HIXISCH
HoflAf havelhas] Flofl Ix[BCt, 4o+ YBA+a+ BALE LR ~2t 9| oIk
Al » 1 U ZFE4 sfHHoll ﬂq 2 U= HE 42)74%] Ho|| 7t Al » 1 T o] HES E 4 Qe WhE 5 2 252 Y
o} 3 1= sA) 8AJof| ERlakc) L Z3o|| 7} = o] gik oA gHlE T 4 gtk 3 Y = &3] 4?7 4 ol

Y5 9jeg meaEo],

(@)

C
S > 1 LLSAL lock ofl LISRALS S=rh 2 ZSAwil HOI ISR | L | 4 raig s 4 enough + R EAL: ~8t & IS Bi £23]
APE FECE 3beSAl Floll MIERAIS PECL 4 ZSAcan HUIHI=R | o 5 Lo oo ol ool oA EBFO| onj Mol 3 rERAN
APE Eeth Afl+enough + oS -AL: ~& & U2 THF F25] .3 4 oo+ A
[SAH + oS &AL B ~aliA 8 4 gl=
D
B4 » 1 LSHSAF skip Yol HIESAIS WaCh 2 UEAlsuay Yol 8l | D
BAE g=0h 41 b 1 Moo + SSAHEAL + toE AL LIS ~3HA _8H 4 Q= 2T8g
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AHEAH +enough + o -AL: ~&F 4= QIS BHE

o

=23 ..

Oph

3 hardly= 79| ~0| oHI"9| S2olCk.

rr
-
B
N
o)

D

S » 1 EAZ X016 wides "7, Q| S20|ct 2 BALR MO highe
“=79| S=0|ct,

U U olgld +€ ohd 4 glth 21
Atk

S|
3871 4 e WEY ot 519

o &
da =

il » 1 1= Y A Ry 2 Hi/lEl= Alkelol] o) &1}
EXERCISES 7it,
G N\
H A 1 hard 2 high 3 hard 4 wide !
B 1 The poles are wide apart.
2 The test was very hard. UNIT 70 EXERCISES
3 Many people speak highly of her. H’ I ] \H
4 There is hardly any coffee left. A tas 2 wel 3 many 4 possible
C 1 She opened her eyes wide. B 1 The businessman is (as) busy as a bee.
2 Aim high in your life. 2 He ate as much as he could.
3 There is hardly any milk left. 3 Please get back as soon as possible.

4 | try to talk as little as possible.
D » Example answers

1 She opens her mouth wide. C 1 Sheis as tall as her father. . .
2 The painter climbs high on the ladder. I 2 We have to gather as much information as

possible.
3 The baby weighs as much as skg.

P
\

A D » Example answers
SHAL » 1 S9AF ‘HAIS[] 0| E0f0F SIZE hard7} LT hardlys 7] 1 | can’t run as fast as Jinsu.
of ~plo] SH0lck, 2 2oy A £0| Slofof sz nighot 2w, | | 2| cantdance aswell as juno. )
hight= ‘D1, CHEFS['Q| E20|ct, 3 SekAH ‘AHEHO| 20| QM= hard7t gt N
Cl 4 SoiA ‘S| ERPol 20| L|0{of 5HE2 wideZt LAfCh widelys A
2/'e| £0|ct, A

514 » 1 Tas + HRAL+ as,2] HEWT} £l0{0F SI22 as7t L2ICE 2 2aiAb
siA > 1 Y F4ls] dobA] uhet 2 Hapg] g nhe|r) ufg- ol ‘arg & SCo| 0| E(0{0F SlEE HARR! wello| 2atTt 3 people Al
9 Q3ich 8 1 AYPES ARstal s ditolth 4 giiEo] 2 Q= HAOIEZ manyZt E0{7t0F $tCE. 4 Tas+ EEAHEA +as
=44 ARtk

possible,2 ‘7ts8t ~gto|ct,

B A1 > 1 LHO] Sohx i A3 2 4= glon m 2 1t 09 et
A » 1 SUA ST LUTE 2 2UA 0j2R0] LUTE 3 ‘speak WEold He gt 3 9 Thed ¥ W AlRrsel 28
highly of ~'= '~& &2t5iCre| onjojct. 4 294t 72| ~0| Otlo] ¥ st} 4 7Hsdt W SofetE)
ot

B

sA1 > 1 715-50] We] Wold Uk 2 1 ARL B ojeiglc

- 34 » 1 Tas busy as bee;= ‘TN HHE'Q| Z20|Ct 2-4 Tas+ &/F +as+
3 e AlgrEo] 19 JREth 4 A5z 7o) ok Wk

possible; = fas + &/5 +as + F0{ +cany

c st > 1 T ARIZHE dig- uhch 2 2 ZHsd wo] Bt
st > 1 SALZ M0l widels WAl BEO| SE0ICk widelyis “gal'e] 0] 3 7Hsdh W] EoleA|a, 4 W= HeshE T shx] groen
Ct. 2 EAZ2 MOl highes ‘=A'Q S20Ich highlys ‘O1<'2l S=0]ct, 3}
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C

A » 1 Tas + HEMEAN +asi= ~2HE | 8Fo| Z£0[ch 2 information
M 4 QlE FAOIZ2 muchS AMB3I0 £t 3 fas+ HEAHRAL +

as ~i= ~EE LskAre] Kolct

D

& » 1 Tas fast as ~: ~2HZ2 W2A 2 Tas well as ~ . ~0HZ

1]

SAl > 1 U R4k W gely it 2 U Funkd &

e

A1 comparison 2 as

4 unlike 5 same

3 compared

B 1 comparison with
2 unlike

C 1 is not unlike his father
2 similar to that of most other teachers
3 are excellent compared to last year

D 1 The goods in convenience stores are expensive
compared to those in big malls.
2 Compared to other groups, the girl group sings
i well, but it doesn’t dance very well. i

& » 1 in comparison to: ~0il H|3 2 the same A as B: B2 &£ Z2 A
3 compared to/with: ~2t H|W5t0, ~0f| HI3§ 4 not unlike: ~2f CI2X|
ULt ~QF HIRSICH (= like) 5 the same as: ~2 &£ Z2 A

st » 1 S2olo] hdol uls) FRIMLh 2 U GAlT 2o BAE
AL Q) 3 ARzl 40d ol Hla) HS- qH Holk 4
F7o] g3} wlssie), Wge) Motk 5 A &, Folem 3
FIAAEU? B A 21 B g Aow FAQ,

il

o]

A » 1 by comparison with: ~2} H|@SIH (= in comparison with)
2 not unlike: ~2} C}2X| QiC} ~Q} HIXSICH (= like)

aA > 1 A1 0] TS L] obul7h W A} wlmshe o} A
= ofujof

B: 78, T 2 T AR SRS kA,
2 A 9EE B Harry+= - 9501,
B ol 5 v,

C

si1A » 1 not unlike: ~2} CI2X| YLt ~2F HIXSIC} (= like) 2 similar to:
~Q} H|Z5t (o] CHE0ll= Bl CHA0| LE2CH) 3 compared to: ~0f H|5H

D

A » 1 i AZE(Q] JZE)0ll HI3H: compared to those of big malls.
71N thosee MZSS 7t2I7ICt. 2 CHE &S0l HlsH: Compared to
other groups

TEST 9 UNIT 65~71

-

I A 1Fortunately 2 tidy 3 ascoldas }
4 have never heard 5 highly

B 1 This medicine tastes quite bitter.
2 | could hardly hear him at the back.
3 The boss talked to them in a leisurely way.
4 | hardly ever go to rock concerts.
5 1 will never forget what you have done to me.

C 1 We need a highly skilled workforce.
2 You hardly ever try your best.
3 The baby was (@s) quiet as a mouse.
4 | left the door wide open.
5 You’ll have to hit the ball high to get it over that
net.

D10
2 good — well
3 always is — is always
4 sadly — sad
5 if - as

E 1 The business is not unlike fraud.
2 In comparison with the Japanese, Koreans eat
less fish.
3 Suzy is very similar in appearance to her sister.
4 Children seem to learn more quickly compared
to when we were in school.

F 1 | need to eat as little as possible.
2 | need to swear as little as possible.
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3 I need to pay others as many compliments as
possible.
4 | need to spend as little time as possible playing

l computer games. i

siE » 1 B THE Aotz 2AKT) fortunately= 250 2Ch 2
keep +SE0] + SEEOY(EEAN.C FEHoICE 3 fas+ HEA/EAt+as
A AREE ~SH/51 4 SiMidtE S| 282 Thave + 20 + IHEALE &
Ct. 5 &#&AlinteligentE A2 Z EAL highlyS £2CF,

sA > 1 CHISIE Lh 17 dely] Ao] Mo w3k 2 v
e wAs) Aeel] 2HAU? 3 19 e deXY At
4 U 137 $71= A4S S0l o] girk 5 Briang vj$ %
=3} pspafolc,

sH& » 1 taste bitter: BH0| ML quite= AL bitterE $AIGH= 2A0|=2
2 20l 2C} 2 BEHEAL hardly= ZS At could?t £S AL hear AO[o]] 2
Ct 3 in a leisurely ways ‘(RS '2H= 2AFLO0ICE 4 BIZEA} hardly
ever= YHtSAF go &0l 2Lt 5 2™ never= ZJAL willlt 2SAt

forget AtO[0f| £2Ct,

31 » 1 o] O o] ul.g- At} 2 Lh= ol Q= 1] B
ok 3 1 AMHE WS olfiglis WAOR I5A
Wk 4 Lhe A9 2 EAE] 7h eReth 5 U Y7t U

Al g A A= SA] ok Zlolth

C

SH& » 1 skiled= HEAOIZE BAf highly= 1 0l 2L 2 BI=RA}
hardly ever= LHHSAL QF0l| 220t 3 Tas+ SEA/EA+as A AT ~
St 4 TSAM+ 280] + 2XE0|,2| FEZ wide= 2ANOICE 5 SHs
=02 EEO 2 highZ 2L},

silal » 1 2= AEE SHE Y] "asith 2 v FAH 2
AEg st @Eu. 3 I of7le YRy 283
w29 B odo] 9ttt 5 Ul A YE 97 TS Yrly

= =2

H

A AHopek gk

D

SHA » 2 SAt readE $ABIEE EAL wel 2 MoF STt 3 HIEE A= be
SAL Fofl Aof Bict 4 TEAH+ S80] + SXE0 0|22 SHEHN= J&
A7} 2tof StCt 5 as soon as possible: 7Hs6h wa|

s> 1 T 1 R4 ARl s e 2 Tk 124
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oA|qk, ofHs] 2 YA Hgith. 3 AL FAF & 4 11 olop]
UE vy &2 ok 5 U U7t 7k E wE ofste] 27

m

54 » 1 ‘CHE HPF Y='2 not unlikeO|C 2 ‘YU=QInt H|maHH:
comparison with the JapaneseO|Ct. 3 ‘220 M OHL HIRSICFE is
similar in appearanceO|Ct. 4 ‘P2[7} stwof CtE et H|wsH

compared to when we were in schoolO|C},

rlo

in

<

ery

o
=

ra

F

1A » THs Bt ~3IH'E Tas+ -+ +as possible, 2 2Lt 1~2 as little as
possible: 7Fs8t X7 3 as many compliments as possible: 7+t 8t B

2 2ZEt 4 as little time as possible: 7Hs gt gt M2 A|ZH

s N\
'"A 1older 2than 3 bigger 4 more difficult !

B 1 Arabbit is faster than a turtle.
2 ADVD is cheaper than a DVD player.
3 Sunday is more enjoyable than Monday.
4 Gold is more expensive than silver.

C 1 Tokyo is hotter than Seoul.
2 Brown rice is healthier than white rice.
3 The subway is faster than cars at rush hours.

D 1 » Example answers
1 am taller than all my brothers.

i 2 | speak more fluent English than Hajin does. i
L J
A

sie » 1~3 Hluge| Koz, HRE A = FAL| 201 ers 20|22,
Foil ‘than + HCH2O] kM “-HLCH O ~6lCh= 2 LIEHACE 4 CiR&

9| 283 0le| FEA/RAL= 2ol moreE MM Hlugo 2 PHECL

M » 1 Tim-S 19] oA} e} Yol7F Wt 2 Vinces Ui
ot 7|7} § At 3 W e de] /Ech o Ach 4 o] EAlE 1
EAHL} o o,

B

314 » 1 faster than: ~ECt O #2 2 cheaper than: ~ECH O ZH

3 more enjoyable than: ~ECt & 42 4 more expensive than: ~&ELCt



o bl

siad » 1 E7]= Aol wEr)l, 2 DVDE DVD Zgoloj=
o} o gho] Atk 3 dede dedur ¢ &k 4 & 2
ok o g,

C
sl » 1 ~2C} O & hotter than 2 ~HLC} O 40| £ healthier
than 3 ~HECt O t2: faster than

D

SHA » 1 taller than all my brothers: LIQ| 2E SNMSELCt o 7|7t 2
2 more fluent English than: ~HC} O S&F6H Fof

> 1 U ) ISR 717 A0, 2 B Hajinkeh ol

2 4 fropt wet

I\ @EW  EXERCISES

Vg N\
H A 1 more 2 better 3further 4 better !

B 1 She earns more than | do.
2 Can you repeat that one more time?
3 The weather got worse during the night.
4 She sings better than | do.

C 1 |love you more than | can say.
2 | like pasta better/more than ramen.
3 The room was bad and the food was worse.

D » Example answers
1 Koreans are better at math than most other
peoples.
2 Korea makes better computers than most

A » 1 manyLt much?| H|W=2 morel|Ct 2 goodO|Lt wellQ| H|ws
2 bettero|Ct, 3 farQ| H|WZ2 fartherLt furtherO|Ct 4 ‘~ECh WCFE
better thanO|C},

AL > 1 AL FAlo] Ml ExTh BN WS 2 Hojold Ba
b Qe 2 7k usct U 259 8eldeltt 3 U o o4
42 % itk 4 U 26 £ Mrb AnkE £2 o Fof gtk

H countries do. )

B
a4 » 1 much — she ~ more than | -2 #£LC}. 2 one more time2 ‘&t
H o2 oojolct 3 bad?| H|WE2 worseO|22 get worse2 L}

4 well — she ~ better than | -2 2L}

si41 » 1 = vhat o o] Witk 2 skl o whEa 4 oy
27 3 U Wl o ekt 4 2UE e eds g

==

i

C

A » 1 ‘LH7F L2 & £ Q= ZELCH Bf'= more than | can sayO|Ck
2 ‘2}HECT IIAELS Cf'= pasta better/more than ramenO|Ct, 3 bad2l

H| =2 worseO|Ct,

D

54 » 1 good at math — better at math than 2 make computers —
make better computers than

U7  EXERCISES

Vs \‘
A1 youngest 2 smartest 3 latest 4 my !

B 1 Donna is the fastest reader in the class.
2 That was the easiest question in the test.
3 Eric is the hardest worker of all the employees.

C 1 This is the most exciting ride in the amusement
park.
2 Which is the most expensive handbag in this
shop?
3 Mt. Baekdu is the highest mountain in Korea.

D » Example answers
1 My happiest memory is my kindergarten days.
2 My saddest moment in life is the day my dog

” Happy died. i
\ J
A

SHA » 1 the + ZAZ + of + 2E4THAL: ~ & S0IM 71& ~8t 2 smarte]
ZMZE 2ol estE 22ICt 3 fthe + ZIMF + BALE 204 4 zldE &

Ofl= the CHAl AQZAS MT|E SiC},

atA » 1 JackS Y= F 7P oty 2 ade 3 01]*1 7V

EE5 spolrh, 3 b H4lo] ASEL 2 A 4 ojAL

o] 7hg 453 Aol

EIJ
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5HA » 1 the fastest reader: 7t% B2 £=71 2 the easiest question: 7+
% 22 24| 3 the hardest worker 712 Z2H5H &

s » 1 Donnats shgolA 71 w2 &E7fo|c}l, 2 T170] A]
HollA 7H 42 EAINC 3 Eric W& ERIE FollA 7MY
23| Yt

C

a4 » 1 the most exciting ride: 712 ®2I5t =0]7|17% 2 the most

expensive handbag: 715 HIM SHEEE 3 the highest mountain: 71 &2 A

D

5H& » 1 my kindergarten days: Lt2| RX|2 AIE 2 My saddest moment
in life: Lif QLMOA 71 £3E &7t

sia1 > 1 L] Z1A SRR Flofe ve] §A9 Aol 2
QUAOIA 7HA SHE 7k ko] o] szt £ o,

UNIT 75 EXERCISES

r N\
H A 1 least 2 worst 3 most 4 the best |

B 1 This is the worst day of my life.
2 His best quality is his sense of humor.
3 Pluto is the furthest/farthest planet from the
sun.
4 He has the least experience of all the teachers.

C 1 Who can run (the) furthest/farthest in two
minutes?
2 These farming methods cause the least damage
to the environment.
3 He was voted the worst dressed celebrity.

D » Example answers
1 The Korean War was the worst of all the wars on
the Korean Peninsula.
i 2 Yi Sunsin was Korea’s best admiral.

A
éH“ » 1 litlel] Z|MZ2 least2 20| ests =0|X| L1, 20f|l mosts
X| &= 13! 2420Ick 2 the worst of the storm: Z2Z9| %|2to| &7t

3 manyQ| zAZ2 mostOII:f, 4 wello] FMZE bestOIl‘_f,

50 | Answer key

;HM » 1 o] AFS 49 Hlgo] Eth 2 FF oMY &k
gk 8 ¥ 7P Be 25 A99S5U7? 4 Georgert 7HE
% 7}% f[dE 2,

SilA » 1 the worst day of ~: ~F %29 ' 2 his best quality: 12| Z|
19| XF&! 3 the furthest/farthest planet: 718 Ha| Ho{Zl A 4 the

least experience: Z|A9| A&

S > 1 9358 1) Qo] Hote] Wolrk 2 19 Hmo| YL
R gzolth 8 WYL Bl b el Wolxl olet
47k WE HYYE F 71 Al At

(@)

on

sHAd » 1 run the furthest/farthest: 7}& Ha| Z2|Ct 2 the least damage:

A
=
|Astol mfsH 3 the worst dressed: 28 X202 2 Q=

o

D

sHA » 1 the worst of all the wars: 2= F™ = X|oto| XA 2 Korea's
best admiral: 8= Z|112| M=

St > 1 G AAE Fke] BE A4
2 oAl B3 H 3] Ao,

S Fofe] dAolqiek

U1 7W EXERCISES

r N\
! A 1 other 2 than 3 students 4 worst !

B 1 No (other) mammal is larger than the whale.
2 No (other) mammal is as large as the whale.
3 The whale is larger than any other mammal.
4 The whale is larger than all the other mammals.

C 1 No one /Nobody walks as fast as Pete.
2 She is the boldest woman (that) | have ever
seen.
3 No (other) beast is fiercer than the tiger.

D » Example answers
1 The 9/11 attack was the most terrible incident
I’ve ever seen.
2 My father is the most patient person I’ve ever
H known. i




A

a4 » 1 TH|WZ than any other + EFM3AL: CHE 0L (HADELHE O ~
5t 2 No - H|wgF +than;: e ~&= Cf ~&X| 9¢Ct 3 fone of the + Z|
a2 7P ~8 AANE)E B sttt 4 TZIME + (that) + S + have
ever + THEAL: S7F XIZWX| ~6ll 2 A & 7K --sict

b4 > 1 Harryls ARRAlo]4 2 47t © Ajul7} gl 2 o
SEE ojRnth o AR QT 3 Janist A BEF SIS %
o wolth 4 1502 ofelA U7t mokdl sk Hoto] gsfolch

ol

Hriz: o ~§t 4 (24 %) 'H|7Z than all the other + 24HAL: CHE
2E (HADECte of ~&t

C

S » 1 ™No - as+ EEA/RAt+as (A 0= & (A)RHE ©f ~5tX| &
Ct 2 TZ[AZ + (that) + S + have ever + IHHEA}L: S7F XIZ7IXK| ~6lf £
A & 7t& -5ttt 3 ™No -+ H|WF +than: M= ~& O ~3IX| 2iCt

D
A » TEIAMF + (that) + S + have ever + TI4EAL: St XIE7HK| ~&ff 2
2B K stk

s8> 1 9/11 AL W7H 2 4 F g B Adelalnt 20
of opjA| 7} ob AR % 7 QIuiAlo] ek Altolch

I\@s8 EXERCISES

e N\
H A 1 me 2wise 3 twice 4 price !

B 1 is bigger than Paris
2 | weigh more than he does.
3 She is twice as old as me.
4 That movie is not as violent as this one.

C 1 Heis twice my height.
2 The building is twice as tall as this one.
3 He wore the same suit as he did yesterday.
4 This investment is not as risky as the last one.

D » Example answers
1 | do not talk as well as the class president.

2 | don’t have as good a memory as my

” homeroom teacher. i
\ J
A

1A » 1 Tthan+ 2&Z, E= than + F0 + SAH @Alo|ch, 2 Mot
as + HBAY/E AL+ as: ~2HF ~oK| 22Tt 3 ltwice as + HEAY/EAL+as
AL AQ| 2HHZ ~5ICt 4 same CHHALR ML} Fof| HAPL @7|= Stof

ol

o4 » 1 Fisher#li= Lot o Fxjo|o}, 2 T 1] ofmA|gtE:
st ottt 3 o] W2 A o 7 uigkE At 4 HASS
&2 7HAol,

i)

-

=

B

A » 1 Mot as + SEA/EAL+as, = TH|XIZ +than, 2 Tthan+ SX2A,
L= Tthan+ 30| + SAL gAlolct 3 ftwice as+ EEA/EAL+as A A
9| 2HiZ ~3GICt 4 TH|wEF + than, = ot as + SEAL/EAL+as)

B4 » 1 Tl FRUE A7) otk (8-S sheuct o )
2 U 1 gRart AFo] o ol Uitk 3 i Uk ol
7} % s @, 4 98k o] Qshur) § Zejolr),

C

ailA » 1 twice my height: 2Hi2] 7| 2 twice as tall as: =0|(7[)7} 284 2l
3 the same A as B: B Z2 A 4 not as + FEAl/EAL+ as: ~BHE ~5}
x| 9ict

o

SHA » 1 as well as A: ARFZ Z ~3l= 2 as SRAH (BAD as: ~HHE &
2 A

UNIT 78 I3 GEEE

e
! A 1 much 2 alot 3 verybest 4 much !

B 1 His wife is much younger than him.
2 This store sells many more goods than that one.
3 The situation is much more serious than |
thought.

C 1 Heran a little faster than the last time.
2 Koreans have by far the highest 1Qs of all the
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peoples.
3 This test seemed less difficult than the last one.

D » Example answers
1 The U.S. is by far the world’s most powerful

nation.
” 2 Kim Yuna is by far the world’s best figure skater. i
L J
A
A » 1, 2,4 H|WZ2| ZZEE= much/far/even/still/a lot + H|wZ0|Ct (&
M o ~3ICH 3 EAZ9| ZZ= much / by far / easily / the very + ZA
20lct.

sa> 1 T 1 g B o SSsjt 2 v vud 4

R o W gof =S AT ek 3 AL o] uhSoA ©
o o] Agolty 4 O UEh FX o B =8 7HA]a Q)
o},
B

A » 1 HluzQ| Z=&= much/far/even/still/a lot + H|=0|CL 2 more
7t £ U BAR E4YE A B2 moreE Z&stE EARE much
7} otL|2t manyOlCt, 3 H|m=E2| ZZX= much/far/even/still/a lot + H| g
o|ct.

A > 1 2 k9] ohh 1 At WA o A 2 o] Abde
A AP 20 We AES Bk 3 Al U A2 A
wek 24 o Azl

C

A » 1 a little faster than: ~ECt 2F Cf ®2| 2 by far the highest IQ
of: ~& A JH&H =2 010|157 3 less difficult than: ~2CF & 0242

o

i
|

U112 EXERCISES

e N\
H A 1 more and more expensive !
2over 3to 4 to

» 1 SHA MIA| =22 by far the world’'s most powerful 2 THH M|

e
19[: by far the world’s best

ol

i

B 1 She is getting thinner and thinner.
2 That performance was inferior to the last one.
3 | prefer black coffee to coffee with sugar.

52 | Answer key

C 1 Prices are getting higher and higher.
2 Most wine from Switzerland is inferior to wine
from France.
3 When it comes to creative thinking, humans
have an advantage over computers.

D » Example answers
1 Humans have the advantage of language over

beasts.
2 Humans have the advantage of manners over
” beasts. i
\ J

A

sHA » 1 "H|WE +and + H|w= . BF O ~siCt 2 A over B: A7t BELCH
ICH 3 prefer A to B: AZ BECE MS3ICt (= prefer A over B) 4 inferior
to: ~HECH o YSet

97 o MR Qeh 2 AHAS B o] W
ARk 9 7 o] o 9tk 3 uhe Avjrr)
1S o Folith. 4 o] Bol: Wt Betd 1 ofd AEnn

sHA » 1 H|WE +and +H|lug: BE O ~sict 2 Tnot as + JEA/E
A+ asy ~BHE ~SIK| 242 (= inferior to) 3 like A better than B = prefer
A to B: BECt AE O Z0fsict

> 1 U A B ST Gl 2 T 3L AuhinkE
FA7} ghote). 8 Ub MgAsNe BaAnE o Folal,

(@)

H& » 1 "H|ug +and + H|wz: 8™ o ~5iCh 2 inferior to: ~2Ct

=
S35t 3 A over B: A7t BEC} GtCt

on

e

o

814 » have the advantage of ~ over: -0l H|3lf ~2| 0|F0]| QUCt
S Aol vlsf Aoj9] o]dE 7FA AL Qlrt, 2 QIZF
2 Aol vls| olde] o] 7FA| 1L Qi

(T[T  EXERCISES

- N\
| A 1 divided 2 of 3 classified 4 kind !
5 into




B 1Kind/Sort of
2 divide / between

C 1 classified the big plant as a flower
2 categorizes people over 70 as senior citizens
3 divided the cash among the members

D » Example answers
1 Tomatoes are categorized as vegetables, not
fruits.
2 Spiders are classified into their own group, not

i as insects. i
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514 » 1 divided by: ~2 LIFCH 2 a kind of + HHHANaE MX| L)
1Z9| 3 classified: H&E7t 7|2 FZE02t= X 4 the same kind of:
S Z209| 5 classify A into B: A2 B2 2325}t

mo ol

my

a4 » 1 10 We7] 2501tk 2 o] e 4T HHoln
3 1 AEs vy azle 71ER FHEE JEYYT 4 1
= ol A 2 7O AE 7RI e Atol=Rt HEch

5 152 3YES 3 THE BRI

SHA » 1 kind of (= sort of): 27F2, 0= Hz= 2 divide A between B:
B ALO|0f| A LESO{3CH

siA > 1A Ui ATbo] BHEsh?
B: ol AL (223, Hol= @A oo,
24 9l 24 FAT o) QRS sobut wrkn A2
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s » 1 AZ B2 25F5ICE classify A as B 2 AE B2 £53lCH
categorize A as B 3 AS B AO|0flA] £HHSICE divide A among B

D

54 » 1 A be categorized as B: A= B2 EFE&ICt 2 A be classified
into B: A= B2 £&&|C}

UNIT 72~80
pu_ __ __ __ |
I A 1 The Sahara desert is larger than the Kalahari }
desert.
2 Fast-food restaurants serve food more quickly
than sit-down restaurants.
3 Paris was not as warm as Athens. / Athens was
not as warm as Paris.

4 This winter’s weather is the worst in years.

B 1 twice / much as me
2 as intelligent as chimpanzees
3 hotter it is / more water
4 redder and redder

C 1 Nobody in Korea is taller than Lee.
2 A shower is not as relaxing as a bath.
3 | prefer Korean movies to American ones.
4 This model is technically superior to its
competitors.

D10
2 than —to / over
3 very —as
4 and interesting — and more interesting
5 very — much

E 1 The government has classified the results of the
nuclear tests.
2 Computer viruses fall into three broad
categories.
3 Divide the class into four groups.
4 She is kind of conservative.

F 1 | am intellectually superior to my archrival.
2 | am physically inferior to my archrival.
3 My archrival is a little more sociable than me.
4 | am much more patient than my archrival. )
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worst in years: 2 Hgtof| F|2fQl
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S » 1 twice as+ EEA/EAt+as A A9 282 ~3BlCt 2 'not
as+ BEM/RAL+as; ~2F ~SIK| 42 3 the HIWS, the HlmE: ~&

5 CF -alXict 4 H|wgF and Hlwg: Y ©f ~slitt
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sHA » 1 'No - H|2g +than: Ol ~&= O ~&kX| §4Ct 2 less than =
not as+ @EA/EAt+as 3 prefer A to B: BELCt AS O Zofsict
4 superior to A (AELCH SYSICH — inferior to A (ARLCH SS38ICH
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29| ZEE= much/far/feven/still/a lot + H| g2 £2C},
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SHA » 1 classify: MEE 7|LU2 FZSHCH 2 fall into a category: Ot &
Z=2 22|} 3 divide A into B: AZ B2 LEC}H 4 kind of (= sort of): 2F
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SiA » 1 ~0f H|SH SESICH — be superior to 2 ~0f HIa ES3ICH —
be inferior to 3 ~HCt & Cf AlwX0|Ct — be a little more sociable than
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